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UGC NET PAPER 2 MARCH 2, 2022 SHIFT 1 GEOGRAPHY QUESTION PAPER

Topic:- Geog SH1_Set1_A

1)

Which one of the following methods 1s used by researchers for reducing biasness of secale’
while compositing several indicators?

(1) working out percentages and adding them together

(2) adding actual values of all indicators

(3) segregating positive and negative indicators

(4) dividing the values of indicators with their mean values
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[Question ID = 301][Question Description = Q1_Geog_5SH1_S5et1_A]
1. 1 [Option ID = 1201]
2. 2 [Option ID = 1202]
3. 3 [Option ID = 1203]
4, 4 [Option ID = 1204]

)
Which one of the following is not a process of cultural change?
(1) Acculturation (2) Diffusion
(3) Innovation (4) Segregation
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[Question ID = 302][Question Description = Q2_Geog_SH1_Set1_A]
1. 1 [Option ID = 1205]
2. 2 [Option ID = 1206]
3. 3 [Option ID = 1207]
4. 4 [Option ID = 1208]

3)
Which one of the following depicts correct demographic equation of population growth?

(1) Natural increase and dependency ratios
(2) Natural increase and net migration

(3) In-migration and birth rate

(4) Out-migration and death rate
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[Question ID = 303][Question Description = Q3_Geog_5SH1_S5Set1_A]
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. 1 [Option 1D = 1209]

2 [Option ID = 1210]
3 [Option ID = 1211]
. 4 [Option ID = 1212]

oW

4)
In which one of the following water bodies the salinity is lowest?

(1) Great salt lake (2) Dead sea
{3 Lake Van (4) Gulf of Karabugas
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[Question ID = 304][Question Description = Q4_Geog_SH1_Set1_A]
1. 1 [Option ID = 1213]
2. 2 [Option ID = 1214]
3. 3 [Option ID = 1215]
4. 4 [Option ID = 1216]

5 i ; : i
) The phenomena of wind gap 1s associated with :
(1) Glacio-fluvial eroison (2) Lateral erosion by rver
(3) Head ward erosion by river (4) Glacial planation
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[Question ID = 305][Question Description = Q5_Geog_ SH1_Set1_A]
1. 1 [Option ID = 1217]
2. 2 [Option ID = 1218]
3. 3 [Option ID = 1219]
4, 4 [Option ID = 1220]

6)
A researcher wants to study the relationship of family size to income. He/She classifies
population into different income slabs and then takes a random sample from selected slabs.
Which one of the following techniques is he/she working with?

(1) Cluster sampling (2) Random sampling
(3) Stratified random samphng (4) Systematic sampling
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[Question ID = 306][Question Description = Q6_Geog_5SH1_S5Set1_A]
1. 1 [Option ID = 1221]
2. 2 [Option ID = 1222]
3, 3 [Option ID = 1223]
4, 4 [Option ID = 1224]

7 A i ; - :
) Who among the following formalized the concept that there exists relationship between the
spatial organmization and National development?
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(1) Friedmann (2) Dickens
(3) Kuklinsk: (4) Luten
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[Question ID = 307][Question Description = Q7_Geog_SH1_Set1_A]
1. 1 [Optien ID = 1225]
2. 2 [Option ID = 1226]
3. 3 [Optien ID = 1227]
4. 4 [Option ID = 1228]

Y Which one of the following indicates a population pyramid with wide base narrowing as the
age Cohorts progress?
(1) High fertility rates and low mortality rates
(2) Low fertility and low mortality rates
(3) High fertility and high mortahty rates
(4) High fertility and high age specific fertility rates
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[Question ID = 308][Question Description = Q8_Geog_SH1_Set1_A]
1. 1 [Option ID = 1229]
2. 2 [Option ID = 1230]
3. 3 [Option ID = 1231]
4, 4 [Option ID = 1232]

9)
Which one of the following term 1s used for the distance between trough to crest of a wave?
(1) Wave trough (2) Wave velocity
(3) Wave height (4) Wave period
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[Question ID = 309][Question Description = Q9_Geog_SH1_Set1_A]
1, 1 [Option ID = 1233]
2. 2 [Optien ID = 1234]
3. 3 [Optien ID = 1235]
4. 4 [Option ID = 1236]

1 The San Andrean Fault is an example of

(1) Transform fault (2) Converging fault
(3) Spreading fault (4) Subduction fault
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[Question ID = 310][Question Description = Q10_Geog _SH1_Set1_A]
1. 1 [Option ID = 1237]
2. 2 [Option ID = 1238]
3. 3 [Option ID = 1239]
4, 4 [Option ID = 1240]

11)
Which one of the following group of states/U.T. in India recorded low sex ratioc as per census

2011 data?

(1) Tamil Nadu, Uttarakhand, Himachal Pradesh, Haryana
(2) Jharkhand, Rajasthan, Odisha, West Bengal

(3) Manipur, Haryana, Goa, Uttar Pradesh

(4) Sikkim, Haryana, Jammu and Kashmir, Gujarat
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[Question ID = 311][Question Description = Q11_Geog_SH1_Set1_A]
. 1 [Option ID = 1241]
2 [Option ID = 1242]
. 3 [Option ID = 1243]
. 4 [Option ID = 1244]

T e

12) Stop and Go determinism was propounded by

(1) F. Ratzel (2) G. Taylor
(3) A V. Humboldt (4) J. Brunhes
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[Question ID = 312][Question Description = Q12_Geog _SH1_Set1_A]
1. 1 [Option ID = 1245]
2. 2 [Option ID = 1246]

3. 3 [Option ID = 1247]
4, 4 [Option ID = 1248]

13)
The present day spatial distribution of Buddhism is highly concentrated among which of the

following group of regions?

(1) China, Tibet, Korea, Siberia

(2) South East Asia, Tibet, Mongolia, Japan
(3) Northern India, China, South East Asia
(4) Tibet, India, Middle East, Japan
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[Question ID = 313][Question Description = Q13_Geog_SH1_Set1_A]
1. 1 [Option ID = 1249]
2. 2 [Option ID = 1250]
3. 3 [Option ID = 1251]
4. 4 [Option ID = 1252]

14)
Which one of the following statements was not considered by Malthus while stating

Malthusian theory of population growth?
(1) Food supply will increase in arithmetic proportion while population will increase in
geometric proportion

(2) With increasing population food scarcity will increase, resulting in high death rate of
population

(3) Development of technology leading to increasing food production

(4) People will suffer from malnutrition resulting in high death rate
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[Question ID = 314][Question Description = Q14_Geog _SH1_Set1_A]
1. 1 [Option ID = 1253]
2. 2 [Option ID = 1254]
3. 3 [Option ID = 1255]
4, 4 [Option ID = 1256]

13)  The per minute solar radiation received on one centimeter square at the outer surface of a
plane 1s
{1) Convection (2} Solar constant
(3) Absorption (4) Reflection

gl TaE F Ch a1 @A}, TEae W id (44 S 9R i 9 g 2 98 R 2

(1) == (2) i fERm

-

(3) oY (4) A

[Question ID = 315][Question Description = Q15_Geog SH1_Set1_A]
. 1 [Option ID = 1257]
2 [Option ID = 1258)
. 3 [Option ID = 125%]
. 4 [Option ID = 1260]

e it B

16)
Yardangs are the creation of erosion by

(1 Fluwial (2) Aeolian
(3) Karst (4) Glacial
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[Question ID = 316][Question Description = Q16_Geog _SH1_Set1_A]
1. 1 [Option ID = 1261]
2. 2 [Option ID = 1262]
3. 3 [Option ID = 1263]
4, 4 [Option ID = 1264]

17) ; ; ; ;
Which one of the following group of State/UT recorded very high population growth rate

during 2001-2011 as per data given by census of India?

(1) Andhra Pradesh, Meghalaya, Himachal Pradesh Tripura
(2) Mizoram, Sikkim, Goa, Bihar

(3) Bihar. Jammu and Kashmir, Goa, Delhi

(4) Bihar, Jammu and Kashmir, Meghalaya, Mizoram
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[Question ID = 317][Question Description = Q17_Geog_SH1_Set1_A]
1. 1 [Option ID = 1265]
2. 2 [Option ID = 1266]
3, 3 [Option ID = 1267]
4. 4 [Option ID = 1268]

18) : :
Who among the following scholars coined the term permafrost?
(1) Ritter (2) Humboldt
(3) Agaziz (4) Ramsay
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[Question ID = 318][Question Description = Q18_Geog _SH1_Set1_A]
1. 1 [Option ID = 1269]
2. 2 [Option ID = 1270]
3. 3 [Option ID = 1271]
4. 4 [Option ID = 1272]

19 . .
) Which of the following 1s a renewable resource?

(1) Metal ores (2) Natural gas
(3) Fuel Cells (4) Fishes
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[Question ID = 319][Question Description = Q19_Geog _SH1_Set1_A]
1. 1 [Option ID = 1273]
2. 2 [Option ID = 1274]
3. 3 [Option ID = 1275]
4, 4 [Option ID = 1276]

20
) Lateral planation theory of pediment formation was propounded by
(1) W.M. Davis (2) Von Richthofen
(3) G.K. Gilbert (4) C.Darwin

ofeile g & gifiis guaer faem & vfaaes feas faea ane
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[Question ID = 320][Question Description = Q20_Geog_SH1_Set1_A]
1. 1 [Option ID = 1277]
2. 2 [Option ID = 1278]
3. 3 [Option ID = 1279]
4. 4 [Option ID = 1280]

21)
‘Rally for valley’ program in India was organized to highlight the problem of —

(1) Environmental degradation (2) Biodiversity
(3) Resettlement of displaced persons (4) Loss of agricultural land
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[Question ID = 321][Question Description = Q21_Geog_SH1_Set1_A]
1. 1 [Option ID = 1281]
2. 2 [Option ID = 1282]
3. 3 [Option ID = 1283]
4. 4 [Option ID = 1284]

22)
Who among the following developed the concept of “Mental Map™?

(1) P.Gould, R. White and Lynch (2) Humboldt, Ritter and Paschel

(3) Semple and Huntington (40 Boulding and Hagerstrand

frferfiaa § o fega dvee 89 ) gron =1 fHsfaa fee
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[Question ID = 322][Question Description = Q22_Geog_SH1_Set1_A]
1. 1 [Option ID = 1285]
2. 2 [Option ID = 1286]
3. 3 [Option ID = 1287]
4. 4 [Option ID = 1288

23)

Using the ‘locational triangle’, the concept of the ‘least transport cost location’ was

introduced by
(1) Walter Isard (2) M.K. Bandman
(3) D.M. Smath (4) Alfred Weber

‘Feufores Taepior =1 Ja 9Xd BR an IREEd ST T ol sraann feed € e
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[Question ID = 323][Question Description = Q23_Geog_SH1_Set1_A]
1. 1 [Optien ID = 1289]
2. 2 [Option ID = 1290]
3. 3 [Option ID = 1291]
4. 4 [Option ID = 1292]

24)

3

@
@
(3)
CY)

Which one of the following industries generates highest amount of waste water in the Ganga
mUP.?

(1) Chemical

(2) Pulp and Paper
(3) Sugar

(4 distillery
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[Question ID = 324][Question Description = Q24_Geog_SH1_Set1_A]
1. 1 [Option ID = 1293]
2. 2 [Option ID = 1294]
3. 3 [Option ID = 1295]
4, 4 [Option ID = 1296]

25)

Which one of the following refers to the mature stage of a thunderstorm?

(1) Electric tension between oppositely charged areas
(2) Sudden onset of rain
(3) Absolute instability

(4) Slackness of energy

prepp

Your Personal Exams Guide



www.prepp.in

fraferfaa 1 9 sR-a1 afea s % die T it gata 272

1) farfa =9 8 sRfa & % 69 fagde T
@)  EFE 99 IE B T

3  wPpl e

(4 ol Hea

[Question ID = 325][Question Description = Q25_Geog SH1_Set1_A]
1. 1 [Option ID = 1297]
2. 2 [Option ID = 1298]
3. 3 [Option ID = 1299]
4, 4 [Option ID = 1300]

26)
Which one of the following frequency distribution is negatively skewed?

1 A (2) B

3 C (4) D

Mean
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[Question ID = 326][Question Description = Q26_Geog_SH1_Set1_A]
1. 1 [Option ID = 1301]
2. 2 [Option ID = 1302]
3. 3 [Option ID = 1303]
4. 4 [Option ID = 1304]

27)
Geo- Strategic model 1n political geography was propounded by:

(1) Spyiman (2) Saul Cohen
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3) John Short (4) John Agnew
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[Question ID = 3271[Question Description = Q27_Geog _SH1_Set1_A]
1. 1 [Option ID = 1305]
2. 2 [Option ID = 1306]
3. 3 [Option ID = 1307]
4, 4 [Option ID = 1308]

28)

Which one of the following 1s incorrect about agro-industrialization —

(1) Needs large agricultural farms
(2) Low labour input per unt of production
(3) Highly qualified managers

(4) Less use of chemical fertilizers and pesticides

FHiY- afrfirhe & ar 1§ Freafafes 9 9 $R-9 @ 32
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[Question ID = 328][Question Description = Q28_Geog _SH1_Set1_A]
1. 1 [Option ID = 1309]
2. 2 [Option ID = 1310]
3. 3 [Option ID = 1311]
4. 4 [Option ID = 1312]

29)

What 1s the total duration of time regquired to complete the two cycles of high and low tides
at any place?

(1) 24 hours (2) 12 hours
(3) Less than 12 hours (4) More than 24 hours

ot Tom W 3= o P = % 9w 1 i e e el w6 srawesa 2 30

(1 24 @ 129
(3) 12 52 4 &9 (4) 24 T @ FAUF

[Question ID = 329][Question Description = Q29_Geog_SH1_Set1_A]
1. 1 [Option ID = 1313]
| 2. 2 [Option ID = 1314]
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| 3. 3 [Option ID = 1315]
4. 4 [Option ID = 1316]

30)
The first meteorological satellite was
(D TRMM (2) TIROS-I
3) MODIS (4) NOAA

Htem fasm et yem 3wz o .
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[Question ID = 330][Question Description = Q30_Geog_SH1_Set1_A]
1. 1 [Option ID = 1317]
2. 2 [Option ID = 1318]
3. 3 [Option ID = 1319]
4. 4 [Option ID = 1320]

31)
In any thematic map, which of the following methods are used to record presence of
phenomenon; its spatial pattern, distribution and dispersion
(1) Isopleth Mapping (2) Isoline Mapping
(3) Choropleth Mapping (4) Dot method mapping

fordli oft faweres v 4, Tmfafaa 0 9 s ugfaal &1 sugm wematl $ dioefi, gadht il gl
T v e ) <& FH & T fren e @
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[Question ID = 331][Question Description = Q31_Geog_SH1_Set1_A]
1. 1 [Option ID = 1321]
2. 2 [Option ID = 1322]
3. 3 [Option ID = 1323]
4, 4 [Option ID = 1324]

32)
The most important factor responsible for localization of high-tech firms in silicon valley of
California 1s
(1 Cheap Labour (2) Access to the market
(3) Agglomeration Economy (4) High speed transportation

Ffeawifin & faferdm I 0 s-Wenfieh smf 6 wrfem & foe swerl wEiive Tyl sw

2
(1) =1 EEd (2) W % T8H
(3)  WYE e (@ o ufa g9ren ufgz

[Question ID = 332][Question Description = Q32_Geog_SH1_Set1_A]
1. 1 [Option ID = 1325]
2. 2 [Option ID = 1326]
3. 3 [Option ID = 1327)
4. 4 [Option ID = 1328]

33)

In four stages of demographic transition theory, the stage in which birth rate continues to be
high but death rate declines rapidly, 1s :
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(1) Stage 4 (2) Stagel
(3) Stage 2 (4) Stage 3

IR gwon it SHuferhta weaw faga 8, 9g v el s g aar, stfus wa @ dfed e @ i

oot 9§ TR i) 2 57 2 -
) =W-4 @ -
3 =m-1 (4) =7 -3

[Question ID = 333][Question Description = Q33_Geog_SH1_Set1_A]
1. 1 [Option ID = 1329]
2. 2 [Optien ID = 1330]
3. 3 [Optien ID = 1331]
4. 4 [Option ID = 1332]

34) Belize barrer reef is located between :

}{1) Mexico and Cuba {2) Jamaica and Honduras
’[3) Mexico and Guatemala ' (4) Mexico and Bahamas
el Ware Ui ek o9 fiag 2
(1)  ufdaes 3R RE (2) T 3R I
(3) g I R (4) TfFaes! 3 s8m

[Question ID = 334][Question Description = Q34_Geog SH1_Set1_A]
1. 1 [Option ID = 1333]
2. 2 [Option ID = 1334]
3. 3 [Option ID = 1335]
4, 4 [Option ID = 1336]

35)
Singularities pertainming to recurrence of anticyclonic weather are associated with which area
of the globe?
(1) South Asia (2) North America
(3) Britain (4) Awustralia

yferespard] Wtan i groghy | w&fun faaemmand fava & fa a3 4 S9g w@d 27

(1)  <fam e (2 390 il
@ fwm (4) I

[Question ID = 335][Question Description = Q35_Geog_SH1_Set1_A]
1. 1 [Option ID = 1337]
2. 2 [Option ID = 1338]
3. 3 [Option ID = 1339]
4. 4 [Option ID = 1340]

36)
Which one of the following rivers is not a tributory of Yamuna rver?
(1) Giri river (2) Tons river
(3) Bata river (4) Tangri river

Frifeafiga O | =R 9 7<) 79 F1 wErEs T6 T4 27
1 TR 2 |
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[Question ID = 336][Question Description = Q36_Geog_SH1_Set1_A]
1. 1 [Optien ID = 1341]
2. 2 [Option ID = 1342]
3. 3 [Option ID = 1343]
4. 4 [Option ID = 1344]

37)
Geography 1n 17 volumes was authored by :
(1) Ptolemy (2) Ritter
(3) Strabo (4) Anmstotle

A Bl 17 @l 1 Toraeh g formn w7
1 e @ f=

SN

@ HH (4)

[Question ID = 337][Question Description = Q37_Geog_SH1_Set1_A]
1. 1 [Option ID = 1345]
2. 2 [Option ID = 1346]
3. 3 [Option ID = 1347]
4. 4 [Option ID = 1348)

38)

Who among the following scholars examined the regional and geographical implications of

growth pole theory earlier propounded by perroux?

(1) Gunnar Myrdal (2) John Friedmann
(3) A. O, Hirschman (4) J.Boudelhe

frerferfaa o 3 rw fagm 3 e g g 3 whie fem e Rigia’ % w3 A s

&1 Feay a7
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[Question ID = 338][Question Description = Q38_Geog_SH1_Set1_A]
1. 1 [Option ID = 1349]
2. 2 [Option ID = 1350]
3. 3 [Option ID = 1351]
4. 4 [Option ID = 1352]

39)

Who among the following conceived the idea of shipping canal between India and Srmilanka?

(1) F. Luna Leopold (2) L. Farrell

(3) A. D. Taylor (4) C.d. Barrow

A 3L 2fierer < == e 98t 24 bl FoaAn feferiiad § 3 frea e

(1) < fes (2) Td. e
(3) U F I (4) Hi. 3. MW

[Question ID = 339][Question Description = Q39_Geog_SH1_Set1_A]
1. 1 [Option ID = 1353]
2. 2 [Option ID = 1354]

| 3. 3 [Option ID = 1355]
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| 4. 4 [Option ID = 1356]

40
) Which of the following local winds are not related with drainage winds?
(1) Bora (2) Mistral
(3) Santa Ana (4) Rossby

frcafafiea 1 8 $R-9 wurdE v st veq & Heifia 938 20

1 s 2 Tea
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[Question ID = 340][Question Description = Q40_Geog _SH1_Set1_A]
1. 1 [Option ID = 1357]
2. 2 [Option ID = 1358]
3. 3 [Option ID = 1359]
4, 4 [Option ID = 1360]

KL Advocates of Humanistic geography among the following are :
(A) Harnms
(B) Blache
(C) Guelke
(D)  Ratzel

(E) Ley and Samuels

Choose the correct answer from the options given below :

(1)  (B). (C) and (D) only
(2) (&), (B) and (C) only
(3)  (A), (C) and (E) only
(49 (C) and (D) only

Freferfiea 6 8 @ aeEAmEd gia 5 s de

(A) 24

® =

© TuH

O T

E®) o s Eyeey

Hra fou mo fasedi @ vt I &1 9@ ik

() %ad (B). (C) I (D)
(2)  HId (A), (B) IR (C)
(3) Td (A), (C) 3 (B)
@ %94 (C) 3N (D)
[Question ID = 341][Question Description = Q41_Geog_SH1_Set1_A]

1, 1 [Option ID = 1361]
| 2. 2 [Option ID = 1362]
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| 3. 3 [Option ID = 1363]
4. 4 [Option ID = 1364)

42)

Identify the processes of vorticity :

(&)
(B)
(C)
D)
(E)

Choose the correct answer from the options given below :

1
2)
(3
(4)

Acceleration
Frictional influence
Roughness
Rotation

Angular velocity

(A) and (B) only
(C) and (D) only
(D) and (E) only

(A) and (E) only

i 61 afssanati &6 gg=m #+H

(A)
(B)
(©)
(D)
(E)

o

TYUIEER ST
GEH

P~

E\E
wfia o

+fra feu v fawedi @ wE I @ == Hifvu

(1)
(2)
(3)
(4)

e (A) 3R (B)
*ad (C) 3R (D)
+ae (D) 3 (E)
Fad (A) 3R (E)

[Question ID = 342][Question Description = Q42_Geog_SH1_Set1_A]
1, 1 [Option ID = 1365]
2. 2 [Option ID = 1366]
3. 3 [Option ID = 1367]
4. 4 [Option ID = 1368]

43)

The theory of plate tectonics does not help to explain the origin and location of which one of
the following?

(A) Mountain systems, major sea floors, earth quakes

(B) Earthquakes and major sea floors

(C) QOcean currents, chimatic zones

(D)  Earthguakes and mountain system

(E) Earthguakes

Choose the correct answer from the options given below :
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(1) (A) and (B) only
(2)  (C) and (D) only
3  (C)only

(4) (A) and (E) only

e faaatehl #1 fuga Frafafaa 9§ o fraes /e Soua 3R srafeal <t e & 0 TarEar &)
Fl 27

(A) vEad 99, THE Y5 gk, T

(B)  YF ¥ YYE WEZ AT

(©) W U, ST &

(D)  ¥F IR T A

(E)

4= feu 7T feaepedl O OE1 3o 1 == i

(1) = (A) 3 (B)

(2)  Faa (C) AR (D)

(3) = (C)

@) T Q) 3 (E)
[Question ID = 343][Question Description = Q43_Geog _SH1_Set1_A]
1. 1 [Option ID = 1369]
2. 2 [Option ID = 1370]

3. 3 [Option ID = 1371]
4, 4 [Option ID = 1372]

44)
Which of the following natural characteristics are assoclated with dry monsoon forests of
India?

(A)  Annual rainfall is below 50 cm

(B) The trees have short roots

(C) Conditions remain favourable for plant growth throughout the year
(D) Thorny shrubs and grasslands are found between the trees

(E) Mango. Mahua. Sisam, Keekar etc, are the prominent trees

Choose the correct answer from the options given below :
(1) (A) and (B) only
(2) (C) and (D) only

(3)  (B)and (C) only
(49 (D) and (E) only

freferfiaa 1 @ ®h-8 usfas @wo Yra %y degg o | geiia g0
(A)  =ifde awt 50 &di. & =9 2 2
B) & FH T IR FA B

(C) el Hi ghg b forq g =d oRfRafei sigge wd 2
m gl & i witen mfeat st amrres g 3| 3
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®) 3, wgan, sivm, FE fe 77 6 e g4 2
A9t Teu mu faesedl W W I w1 A hi

() %5 (A) 3 (B)

@ %96 (O) (D)

@  %aIE B) 3R (C)

@ %56 (D) 3N (E)

[Question ID = 344][Question Description = Q44_Geog_SH1_Set1_A]
1. 1 [Option ID = 1373]
2. 2 [Option ID = 1374]
3. 3 [Option ID = 1375]
4. 4 [Option ID = 1376]

45)

Which of the following statements are incorrect about the origin and growth of international

tourism industry?

(A) Thomas Cook arranged the first package tours in 1841, taking travellers from
Leicester to Loughborough in U.K.

(B) The growing appreciation for variety in the cultural landscape in large European
cities such as Paris, Rome and London among tourist and other citizen played a role
in expansion of tourism

(C)  The end of world war II provided the greatest impetus to tourism

(M)  Jet plane failed to herald the new era in International tourism

(E) Boemng 747 in 1970 did not attract much international toursm

Choose the correct answer from the options given below :

D
2
(3
(4)

(A4). (C) only
(C). (D) only
(D), (E) only
(B). (D) only

FAET T I % 3 R far 9 wefm Feafafiaa 1 | wR-3 w9m ome 47

(A)y 9| HH 4 1841 T ggel Yohw TS o1 ey fear e wrta w6t 3%, § ohet A de |
EIEIRIE ]

® U, I 3R T W a2 i TR F wiephers ufgya 6 fafaea § wiewi 9 s amii
%t wedt feamedt 3 wier & vaw 8 gyt fur)

© Tufm favg 3z A amfl 3 e =1 w=ifte ofe ygm i

D) IR e U T I an W S o smmed @

E) 1970 ¥ 981 747 = v gy we T8 fuen

e fer Mo fawedi @ w3 w1 w=[ i .

(1) %56 (A (©

@ %= (O). (D)

3  %=d D). (E)

@ %= B). (D)

' [Question ID = 345][Question Description = Q45_Geog_SH1_Set1_A]
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oW

46)

. 1 [Opticn ID = 1377]

2 [Option ID = 1378]
3 [Option ID = 1379]
. 4 [Option ID = 1380]

Consider the statements about currents in Indian Qcean

&)

(B)
©
(D)
(E)

North of equator, the formation of ocean currents is not influenced by the changing
nature of the monsoon wind system.

Somali current is the warm current of Indian Ocean
Somali current is the cold current of Indian Ocean
Peru current 1s a cold current of Indian Ocean

North-Equatorial current of Indian ocean disappears in the months of August and
September

Choose the correct answer from the options given below :

(D
(2)
(3)
(4

(A) and (B) only
(C) and (E) only
(B) and (C) only

(D) and (E) only

fae wEmr A gy ¥ wEite w5l W faem il

4) fayea T % I H 9 g % S T HEED 99R el & Seed R &1 SN T g
(B)  WHIEl 9/ T&< WRMMIH i 3w gr |

(C) wmreh g fF= nererr & ofia 9w 2l

D) % 9w f&d w6 | oy 2l

€) fae nemrm 6 sab-fayadm aw s 3R e F 0dR 3 3g B 9 R

3 fou 7o foreed @ 9 I #1999 Hifw

1) %9 (A) 3 (B)

(2) a9 (C) 3N (E)

@  Fad B) 3 (C)

(@ % (D) 3R (B)

[Question ID = 346][Question Description = Q46_Geog_SH1_Set1_A]
1. 1 [Option ID = 1381]
2. 2 [Option ID = 1382]
3. 3 [Option ID = 1383]
4. 4 [Option ID = 1384]

47)  Which of the following statements are correct regarding ‘Doabs’ of Punjab?

(&)

(B)

(C)

(D)

Jalandhar Doab between the Beas and the Sutle)
Bari Doab between the Beas and the Ravi
Sindh Doab between the Ravi and the Jhelum

Chhaj Doab between the Beas and the Rawvi
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Choose the most appropriate answer from the opiions given below :

(1)
2)
(3)
(4)

(A) and (B) only
(A) and (C) only
(C) and (D) only

(B) and (D) only

TSI F ClTEN % OR § HETenEd B ® S Y Oa 27

(A) = 3T Taers s ST I
(B) =amE silt Uell % dfie i) S

(C) T ok gom % o= 9y e

(D) = AR UE b S S gE

T fou T et © @@ S 9= i
(1)  + (A) AR (B)

(2)

(3)

4

Fad (A) 3R (C)

*aa (C) 3 (D)

Fael (B) {1 (D)

[Question ID = 347][Question Description = Q47_Geog_SH1_Set1_A]
1. 1 [Optien ID = 1385]
2. 2 [Option ID = 1386]
3. 3 [Optien ID = 1387]
4. 4 [Option ID = 1388]

48)

Which of the following statements are correct about the benefits of international trade?

()
(B)

(©)
D)
(E)

It has allowed an enormous variety of resources to enter into trade basket

It facilitates the distribution of a wide range of manufactured goods, produced in
different parts of the world to global market

International trade decreases the overall costs of production
It has helped the developing countries more than developed countries

It has helped the consumers to buy more goods from whatever wages they earn and
their living standards improved

Choose the correct answer from the options given below :

(1)
@)
(3)
@

(A). (B). (E) only
(0), (D), (E) only
(A). (B). (C) only
(A). (C). (E) only

I SR & AWl F Feted Hefofgd ¥ ¥ -0 w0 g 27

(A)

T TJoid =R 4e ° fafim v % gameEt @ w\w gen 3
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B) fava % fafie vl 4 scoigg wifa-wikh & Scg ® 4fvas som ° faafa #6089 399 g5Ea
Treeht 21

(C)  TH IEA 0T W ST SAOR HH W ad 2

(D) =uq fFiba 2w ) enen et gl # it aema sl 21

(E) 398 STArHIS i a1 A 3§ i el @l § gerrm el @ 3 35 Sfie e | gun
7 2

= Bu 7 fowem | 93 SR W 99 e

(1) =& (A). (B). (E)

2 = (0). D). (B)

(3) A (A). B). (C)

4 s (A). (C). (B)

[Question ID = 348][Question Description = Q48_Geog_SH1_Set1_A]

1. 1 [Option ID = 1389]
2. 2 [Option ID = 1390]
3. 3 [Option ID = 1391]
4. 4 [Option ID = 13%2]

49)

Identify the terrestral disasters

(A)
(B)
©)
(D)

Choose the correct answer from the options given below :

(1)
(2)
(3)
(9

Cold wave
Seismic
Collision of meteors with the earth

Tsunam

(A) and (B) only
(B) and (C) only
(C) and (D) only

(B) and (D) only

Trafarfiga 4 9 Hifys et =t gganfu

&)

®B)

©

D)

3ia o

et
IeHIMael o1 9l B THI

g

A4 fex o fawedi @ gft 3w =1 =m3 il

(1)

@

H9e (A) 3R (B)

FIe (B) 3 (C)
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3

@

e (C) I (D)
%50 (B) 31 (D)

[Question ID = 349][Question Description = Q49_Geog_SH1_Set1_A]
1. 1 [Option ID = 1393]
2. 2 [Option ID = 1394]
3. 3 [Option ID = 1395]
4. 4 [Option ID = 1396]

50)

Which of the following waterfalls pertain to Narmada River?

(A)
®)

©
D)
(E)

Mandhar

Hiran
Tawa
Darda

Sahasradhara

Choose the correct answer from the options given below :

(D
(2)
3
(4)

(A), (B) and (C) only
(A), (D) and (E) only
(B). (C) and (D) only
(C), (D) and (E) only

fferfiga o @ F-4 Femar b @ | wEi 22

(A) TR

®

(C) da@

O =&

(E) HERUURI

= feu o fompeai @ W&l I H1 A HINT ;
1 FEE Q) ®) AR (C)

@) Fd Q). (D) I (E)

3  %ad (B), (C) 3 (D)

@ % (C), (D) 3R (B)

[Question ID = 350][Question Description = Q50_Geog_SH1_Set1_A]
1. 1 [Option ID = 1397]
2. 2 [Option ID = 1398)
3, 3 [Option ID = 1399]
4, 4 [Option ID = 1400]

51)

Consider the following and choose the correct sequence of maps from larger scale to smaller scale

(4)

(241

Cadastral
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T e e e’ ol

(C) Wall
(D) (Globe

Choose the correct answer from the option given below :

M (A, (). D). (B) only
@ (B (A), (C). (D) only
(3 (A, (B). (C), (D) only
@  (0), A).®B). (D)only

frafefiaa &t enmm § vaa g amfEl = 9 @ 3R Tes Fu 1§ saftm fifa

A  Y-F AR

B) EHas T
© 9@ aEfE

(D) wa

4 few o fomeal W 8 vl 3w %1 = Hifae .
(H @A), ©. D), ®B
2 @, @W. ). D
3 @W. 3. Q). D)
4 (©). ), (B). (D)

[Question ID = 351][Question Description = Q51_Geog SH1_Set1_A]
1. 1 [Option ID = 1401]
2. 2 [Option ID = 1402]
3. 3 [Option ID = 1403]
4, 4 [Option ID = 1404]

52)
Which of the following statements are correct related to population studies?

(A)  The Neo-Malthusian theories, contended that in human population fertility behaviour
is conditioned by technological development
(B) Thomas Malthus was an English Economist and demographer

(C)  Population cohort refers to, a group of population unified by a specific common
characteristics

(D)  Crude birth rate refers to birth rates nuinus death rates

(E) Population pyramids are constructed to identify natural growth rate of population

Choose the correct answer from the options given below :

1 (A). B), (D) only
@ (A, (O), (E)only

& (&), B). (C)only
(4¢)  (B). (D). (E) only

G HAAEAT % 99y 4 HEldtgd 5 S HiH 9 9 gEl 57

(A T3 Treaaarnt el 5 9% T 2 o Seees 8, S99 S0 SR OSSN e w6
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qHwE FET 2
(B) 0¥ TIoUH TF ST 1T 3R sEEieashiag o)
(©) FEEn gew o At adeamer et ga whira SAEe ghg B 559 I 8

(D)  wiiied <A X § AUTE B 50 o d geg o § S
(E) 9 [0S SO i WEkF gl 5% B e HH 6 fore sEe San

H=r feu o ot 0 8 v 9w wmn i

(1)
(2)
(3)
(4

+FT (A). (B), (D)
FFA (A). (). (B)
e (A), (B). (C)

Fad (B). (D), (E)

[Question ID = 352][Question Description = Q52_Geog SH1_Set1_A]
1. 1 [Option ID = 1405]
2. 2 [Option ID = 1406]
3. 3 [Option ID = 1407]
4, 4 [Option ID = 1408]

53)

Identify the cryogenic indicators of paleoclimates :

(A)  Evaporite deposites
(B) Ice cores

(C)  Duricrusts

(D) Varves

(E) Ice sheets

Choose the correct answer from the options given below :

(1) (A) and (B) only

(2) (B) and (E) only
(3) (A) and (C) only
(4) {C) and (D) only

YOSy & SrErfe Fggs 1 gg="r o

(&)  3duiEe fageo
B)  EE HH

(© g wd

D)

E) =% =

F= fom e faeredi @ B I W 9 Hif
(1) % (A) 3 (B)
(2  F9 (B) 3 (E)
(3)  &Had (A) 3R (C)
(4  FHaa (O) 3N D)

2

I

prepp

Your Personal Exams Guide



www.prepp.in

[Question ID = 353][Question Description = Q53_Geog_SH1_Set1_A]

1. 1 [Option ID = 1409]
2. 2 [Option ID = 1410]
3. 3 [Option ID = 1411]
4. 4 [Option ID = 1412]

54)

The volume, nature and direction of global trade 1s influenced by

(A)
B)
(©)
D)
(E)

Choose the correct answer from the options given below :

(D
@)
(3)
(4)

Economic advancement

Comparative and locational advantage
Historical factors and investment
Changes in global market

Geographical distance

(A) and (B) only

(B). (C) and (E) only
(B), (C) and (D) only
(A), (B) and (C) only

fvae SR i A, Faid o fen fefoRaa | gt g 2

A)
)
(©)
D)
(E)

i wifa
gereds 3T WA ey
Hamfhes s ot fram
Afgaes arem ¥ aitadq
e g8

Fr9 feo o fawed 4 8 v 3w o1 =R #ifee .

ey
@
6)
@

[Question ID = 354][Question Description = Q54_Geog_SH1_Set1_A]

Fae (A) 3 (B)
%eel (B), (C) I (E)
%eel (B), (C) 31 (D)
FFAA), (B) I (O)

1. 1 [Option ID = 1413]

2. 2
ai

[Option ID = 1414]
[Option ID = 1415]
[ ]

4. 4 [Option ID = 1416

35)

Which of the following pairs is not correctly matched?

(A) Kosi — Consequent river

(B) Narmada — Rift Valley river

(C)  Sutlej — Antecedent river

(D) Ghaggar — Endoreic river

Choose the most appropriate answer from the options given below :
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(1) (A) only
(2) (B) only
(3)  (C)only

4  (D)only
frasiferfian o & s @ g gfeq 748 27

@ P - red
(B) T - 9w AWl T8
(€ wdAd ~ el 7
D) IR - AVEE T

#14 feu o fywedt 4 9 ot Iav = 933 Hifdw .

1 % @A)
@  %=E B)
(3  %ad (C)
@  %ad (D)

[Question ID = 355][Question Description = Q55_Geog_SH1_Set1_A]
1. 1 [Optien ID = 1417]
2. 2 [Option ID = 1418]
3. 3 [Option ID = 1419]
4. 4 [Option ID = 1420]

56)
Which one of the following are methods of load movement of sediment transportation in

oceans?

(A) Traction
(B) Saltation
(C) Turbulent flow

b)) Flocculate

Choose the most appropriate answer from the options given below :

1) (&) only

2)  (A)and (B) only

(3 (&), (B)and (C) only
@  (B), (C)and (D) only

TN & 3€ae (dase) aiEsd & WR-Haad 61 Fefafaa 8 9 =59 of faftei 20

(A) &YW
B) o

(C) Hel=d Udla
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(D)

S (FATRER)

#4 feu o fawed] § A wa8 39w IW T = Fif

(1)
@
)
@

Hac (A)

el (A) 3N (B)
&dd (A). (B) I ()
&dd (B), (C) AR (D)

[Question ID = 356][Question Description = Q56_Geog SH1_Set1_A]
1. 1 [Option ID = 1421]
2. 2 [Option ID = 1422]
3. 3 [Option ID = 1423]
4, 4 [Option ID = 1424]

57)
Population migration
(A)  pull factor in population migration refers to availability of livelihood opportumities at
destination places
(B) step migration refers to stepwise availability of livelihood opportunities at destination
places
(C) push factor in population migration refers to Iess limited availability of livelihood
opportunities at originating place
(D) migration field refers to return migration to originating place
Choose the most appropriate answer from the options given below :
(1) (B) and (D) only
(2) (A and (B) only
(3) (B) and (C) only
() (A and (C) only
SHEEA JaEA
(A) SEEN Y9 § fgwE SR e W WOShiaw & Taull o Iqeeddl < i H g4 2
(B) wUEg YA Tiaed Wi 9 Sfifawr & stemt i wnn-an el S R 949 B
(C) THEN YauH H SO SRS Y9 TIH W Ail9e & FAau Hi HH 97 Hifha IusteTal & a1 o
T4 2
(D) YIET &3 g TAF Fi AN 79 9989 H & 91 § 949 Bl
A fou e fywedt § & v I 1 9 Aifaw
() %= (B) 3 (D)
(2)  Fad (A) IR (B)
(3) A (B) 3R (C)
4 F9E (A) I (C)

[Question ID = 357]1[Question Description = Q57_Geog _SH1_Set1_A]
1. 1 [Option ID = 1425]
2. 2 [Option ID = 1426]

| 3. 3 [Option ID = 1427]
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| 4. 4 [Option ID = 1428]

58)
Who among the following chimatologists advocated Hekistothermal concept in his climatic

classification?

(A) Miller

(B)  Koppen
(C)  Candole
(D) Trewartha

Choose the most appropriate answer from the options given below :
(1) (A) and (B) only
(2) (B) and (C) only

(3)  (C)and (D) only
(4)  (A)and (D) only

fraferfiaa 3 @ form Sarg dfas 3 33 Soary g e I 2leudionda smurm 6 s 67

@) faer

B) HOH
(C) w2
D) g

4 few o foasdl § € wd 3o &1 994 ifyu .

() FE Q) 3 ®B)

2) Ed B) 3O

(3) =« (C) AN (D)

@ 99 (A) I D)
[Question ID = 358][Question Description = Q58_Geog_SH1_Set1_A]
1. 1 [Option ID = 1429]
2. 2 [Option ID = 1430]

3. 3 [Option ID = 1431]
4. 4 [Option ID = 1432]

39)  Which one of the following statements is/are incorrect regarding waves?

(A)  wave height is not indicator of wave energy
(B)  wave height 1s controlled by wind strength
{C) the distance of open water a wave fravels over affects the wave height

(D) the depth of the sea is important factors affecting wave height

Choose the most appropriate answer from the options given below :
(1) (&) only

(2) (A) and (B) only

(3) (C)only
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(4) (C) and (D) only
fyfafiga § 3 =+ w1/3 &uq @0 & o1 § ud 98 27

A T T H FA H HhD TE 8

B) 9 1 F= T wie g Frifa 2 2

(©) gd 5 g, ol ot = 2, e = ) yarfa el 2|
D) WG F TE0E qv F ITE F I FE I U Teegy FRE 2

9 feu 7o frered! 3 & wadl Iug S H1 W SR
(1) *ad (A)

(2) a9 (A) I (B)

(3  %ad (C)

4 %94 (C) 3N (D)

[Question ID = 359][Question Description = Q59_Geog SH1_Set1_A]
1. 1 [Option ID = 1433]
2. 2 [Option ID = 1434]
3. 3 [Option ID = 1435]
4. 4 [Option ID = 1436]

60) Which of the following statements about international trade in post-globalisation phase are correct ?

(&) The share of international trade has doubled now 1n comparison to that of 1950
(B)  Protectionist tendency in trade stands highly discouraged now
(C)  The share of developing countries has increased substantially

(D) The share of manufactured goods has grown sharply

Choose the most appropriate answer from the options given below :

(L (A) (B). D) only
@ (B, (). (D) only
3 (A (C). (D) only

4 (A ®@).()only
I-ATEliE F FoA § AW SR & faw 1 frafafea § 8 S9-0 % v 20
(&) 1950 F g H ARy sarIr w1 fEen g g 2
B) 3@ MR H FEvErd Y3t i s gertaa fen mn )

(€ Taewrasfier ewi % faedt © vaiw 3is 28 2
D) Fififa wxgaii @ fawm & 3 =a 2

13 fou o faedl § | wsd 9w IW B v Hifew
1) %9 A). B), (D)
@ %99 (B). (0), (D)
@  Fad (4), (C), D)



www.prepp.in .repp

Your Personal Exams Guide

(4  Had (A), B), (C)

[Question ID = 360][Question Description = Q60_Geog_SH1_Set1_A]
. 1 [Option ID = 1437]
2 [Option ID = 1438]
3 [Option ID = 1439]
4 [Option ID = 1440]

oW =

1) Which one of the following groups of land forms 1s produced by erosion?

(A) Fiords. Drumlins, Natural levees
B) Playa. Pinacle, Swallow holes
(C)  Esters, Outwash plain, Till

D) Cirques, Stalagmites, Ventifacts

Choose the most appropriate answer from the options given below :
D (&) and (D) only
(2)  (A)only

(3) (B) and (D) only
(49 (B)only

frrferfiaa # @ form /fm -l wopg/ wgl %1 fomin sroveq gro g 22

() T5aE, gafem, wrefaes away

B) I, 9, foem 1w

(©) wR, fauridE tem, Terwd g
D) wh, LewWrge, aggeers

= fou o fawedl O € 998 I9F I H wH HIfNT
(1) &ad A) 3 (D)

(2 %994 A)

(3) %9d (B) 3N (D)

(4  9E (B)

[Question ID = 361][Question Description = Q61_Geog_SH1_Set1_A]
1. 1 [Option ID = 1441]
2. 2 [Option ID = 1442]
3. 3 [Option ID = 1443]
4. 4 [Option ID = 1444]

62)
Read the statements carefully and find out the incorrect one, associated with GIS

(A) Data from several sources is integrated in consistent form
(B) "What if’ scenarios can be visualised
(C)  In vector — data base, map data is stored using a matrix of grid cells

(D)  Attrmbute data are descriptive data of features
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Choose the most appropriate answer from the options given below :

@)
@
3
4)

(A) only
(B) only
(C) only

(D) only

S o138 v % way | Frafafea 9 9 97 @ s v {20

(&)
(B)
(©)
D)

fafir =i & wm affFsl 3 dra v 3 vdiga e s 2

‘T - Afe’ (sre-3%) ufgydl S e w9 8 @ I wEd 3
a9t grererd | g dew & Bigwa w1 I3m g vwieE sl o wr fem a2
sifvere T fafSreanati & avfrens sifws 2 2

i fow e fomredi # & wed 3UFE I H A Hifu
T (A)
9 (B)
%3 (C)
e (D)

(1)
2
(3)
#

[Question ID = 362][Question Description = Q62_Geog_SH1_Set1_A]
1. 1 [Option ID = 1445]
2. 2 [Option ID = 1446]
3. 3 [Option ID = 1447]
4. 4 [Option ID = 1448]

63)

Which of the following are very high risk areas of earthquake?
(A) Tripura
(B) North Bihar
(O Eastern Gujarat
(D) Haryana
Choose the most appropriate answer from the options given below :
(1) (A and (B) only
(2) (B) and (C) only
(3) (C) and (D) only
(4)  (A) and (D) only

WY % wga oIt SIfem I & 2 -

@  fgu

@ Il faEr

© i a=E

prepp
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(D) i

Hra feu mu faedi § & wdl 3w w1 991 Hifvu
1)  H Q) MW (B
2 ¥ B) I (C)
3 % (C) AN (D)
@ %= (A) AD)

[Question ID = 363][Question Description = Q63_Geog_SH1_Set1_A]
1. 1 [Option ID = 1449]
2. 2 [Option ID = 1450]
3. 3 [Option ID = 1451]
4. 4 [Option ID = 1452]

64)

Who among the following geographers, focused on man centered Geography?

{A) Davis and Sample
(B) Huntington and Blache

(C) Gefferron and Humboldt
{D)  Blache and Reclur
{E) Guelke and Jean Brunhes

Choose the correct answer from the options given below :

(D (A) and (B) only
{(2) {B) and (D) only
(3) (D) and (E) only
(4)  {A) and (D) only

Fefafaa 3 F9 8 Fiicies 99a Fiad Pia | & G 27

(A)
(B)
(€)
(D)
(E)

Elemea 3 s
FFE AR TR
s it Tty

e i S g

= feu U fameni § O gt 2 w1 =1 Fifa

(D
(2)
3)
4

Fae (A) 3T (B)
e (B) 3R (D)
FaeT (D) 3T (B)

Faa (A) 3T (D)

[Question ID = 364][Question Description = Q64_Geog_SH1_Set1_A]
1. 1 [Optien ID = 1453]
2. 2 [Option ID = 1454]
3. 3 [Option ID = 1455]
4. 4 [Option ID = 1456]

65)

B iy B, RN ey SV EEG | (NS, RPN, NN TSRS PP UUT (RSP s (UL SPSre. | SN ) by [N, L S TPIRNTUNCTPCRN, SRPRIPRIRER | MPPORE |
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TELEEAALL LA UEALS RRSLLAR T 3L UL LEELT LR RS LA LALA P UL BT AL LA ER Ay RS WAL LFAL LS UL .

(&)
(B)
(C)
®)

Thermometer
Swivel joint
Screen

Sieve

Choose the most appropriate answer from the options given below :

1
2)
(3)
(4)

(A) and (B) only
(B) and (C) only
(C) and (D) only

(B) and (D) only

frferfia @ @ w8 & wifenfves sreq feerm wgsprdier % wag 7€ 27

(&)
(B)
©)
(D)

= fou

(1)

(2)

(3)

(4)
[Question |
1. 1 [Option |
2. 2 [Option |

3. 3 [Option |
4. 4 [Option |

66)

et

WrEAd w95
GhHH
Bl (HE)

T Tashedl 1 ¥ ¥98 IUYE IR &1 F94 HIIC ;

9 (A) 3R (B)

Fa9 (B) 3 (C)

e (C) 3 (D)

%o (B) 3N (D)

D = 365][Question Description = Q65_Geog_SH1_S5et1_A]
D = 1457]

D = 1458

]
D = 1459]
D = 1460]

Match List I and List I1 :

(&
(B)
(®)
D)

List 1 List T
(Thinker/Scholar) (Theory/Model/Strategy)
Gunnar Myrdal (I Strategy of unbalanced growth
A.O. Hirschman (II) Circular and cumulative causation
John Friedmann (IIT) Growth centre and growth axis

J. Boudeville (IV) Core and periphery

Choose the correct answer from the options given below :

(1
2
()

(A)-@. B)-1D). (O)-I1D), (D)-(1V)
(A)-(ID. B)-O. (C)-IV), (D)-ALD
(A)-(1D). (B)-IV). (C)-[M), (D)-(ID

prepp
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@ AV, (B)-aI. (O-1D). (D)-(D

-1 % w2 w1 g=-11 faem Hifo .
tI
(foramees/ ferg)
(A) TAR faz=
(B) U 3. fewmmq
(C) WA BRTH
(D) o. TR
¥ v mu faedi § @ wd I =R i
(1) (A)-(D. (B)-1D. (O)-dIL), (D)-(IV)
2y  (A)-aDn. B)-D). (O)-AV), (D)-AID)
3)  (A)-dID. B)-OV). (O)-@, M)-(ID)
4) (A)-aAV). (B)-I). (C)-AD, (D)-()

Hefl-11
(Fagra / dige / wrHifa)
(D sragfera fasm ot
(I) wfuefi va 9= SR HE J69
AID T & 3 foepra g
(IV) %= (Core) 3R Uiti¥ (periphery)

[Question ID = 366][Question Description = Q66_Geog SH1_Set1_A]
. 1 [Option ID = 1461]
. 2 [Option ID = 1462]
. 3 [Option ID = 1463]
. 4 [Option ID = 1464)

1
2
3
4

67)

Mateh List I and List I1 :

TLast I
Proponent
(A) Gabson
(B) Guelke
(C) Peet
(D) Wright and Kirk

List IT

Philosophy of Geography
(D Idealism
(II) Realism
(III) Behawviourism

(IV) Radicalism

Choose the correct answer from the options given below :

(1)  (@-IID)., B)-dD. (O-O). (D)-AV)
@2  A)-aOV), B)-0), (O)-1D, (D)-(D
3 @-AD. (B)-O. (O-AV), (D)-AID
@  (A)-O, B)-II), (C)-0V), (D)-(ID

1% 911 % g1 iream ik

I feu o famedi 6§ v I & =97 fifsu

&)
(B)
(©)
(D)

-1
e
A%
LA

uge ue fas

1T
D 3reeiaTg
D AuriamR
(III) =HEENET,
avy fear
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(1) (AA)-(111). (B)-(11). (U)-(1}, ()-(1V)
@  A)-aV). (B)-AiD. (O-1D. D)-O
3  @-abh. (B)-(D. (O)-AV). (D)-(L1D
@  &)-O. B-II), (O-IV), M-I

[Question ID = 367][Question Description = Q67_Geog_SH1_Set1_A]
1. 1 [Option ID = 1465]
2. 2 [Option ID = 1466]
3. 3 [Option ID = 1467]
4, 4 [Option ID = 1468]

68)
Match Last I and Last IT ;
ListI Tast I
Urban terms Definitions
(A) Urbanized Area (I} Continuously built up landscapes with
no political boundaries
(B) Conurbation (I) Continuous urban bwlt-up area with
multiple urban centres
(C) Urban Influence Zone (III) A city with much higher population
(more than twice) than the proportion
of second largest city
(D) Primate City (IV) Areas outside cities having significant
city influence
Choose the correct answer from the options given below :
1) A-O, B)-1D), (O)-AV), (D)-d1II)
2  A-AID. B)-AD. (O)-@). (D)(IV)
(3) (A)-(ID. (B)-(I0D. (G)-(D), M)-AV)
(4) (A)-IV). (B)-(ID), (O)-(D), (D)-III)
-1 % WY 1 -1 e i
Hl_"ﬁ‘l ﬂ?ﬁ-ﬂ
MEARIEHCTT] o
(&) TR & @ e e TRt dmet % wee
fafta sgwa
(B HER . D) =7 T &= wiEa waa e il
(O) TR ¥ SN (III) 92 ¥R Fwehl SHaen gal 9 & TR
SHEE | wgd IS 8 (G 4 i)
(D)

LR (IV) R ¥ =1gt 9ga st IR wuE aren &

4= few o faepedi © § w8 3w 1 [ $ifde .

(1)
2
3
€

(A)-(D. (B)-aD). (C)-IV), (D)-AID
(A)-1D). (B)-ID. (O)-O). D)-(IV)
(A)-(ID. (B)-(I1I). (C)-(D). (D)-(1V)
(A)-(IV). (B)-(D), (O)-(D), (D)-IID)

[Question ID = 368][Question Description = Q68_Geog_SH1_Set1_A]
1. 1 [Option ID = 1469]
2. 2 [Option ID = 1470]
3. 3 [Option ID = 1471]
4. 4 [Option ID = 1472)

69)

Match List I with Last I1 :

prepp
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(A)
(B)
(©)

)

LIST L
(Theories of origin of tides)
Equilibrium Theory
Dynamical Theory
Progressive wave Theory

Stationary wave Theory

L1ST 11
(Propounded by)

(I Newton

(I) Laplace

(I1T1) Whewell

(IV) Harris

Choose the correct answer from the options given below :

@)
(2)
(3)
(4)

(A)-@AV). (B)-(1I), (O)-AD), (D)D)
(A)-A1D, (B)-1D. (O)-AV). (D)-@)
(A)-(D), (B)-(IV), (C)-(T), (D)-(III)
(A)-@). (B)-ID). (O)-(ID). D)-(IV)

FA-1% |9 & F=h-11 frem Hifse

(&)
(B)

©
(D)

+fr= feu o et # O wd s = R Hifvu

(1)
@)
(3)
4

I
M % 354 & fHgE

e g
b fagia
st s fagia
st @i frgra

(A)-@V). (B)-A1L), (C)-dD), D))
(A4)-(1I), (B)-D), (C)-AV). (D)-(D
(Ax-1D. (B)-(1V). (C)-(D. (D)-AID
(A)-@. B)-1D), (C)-dID), (D)-(IV)

[Question ID = 369][Question Description = Q69_Geog_SH1_Set1_A]
1. 1 [Option ID = 1473]
2. 2 [Option ID = 1474]
3. 3 [Option ID = 1475]
4. 4 [Option ID = 1476]

70)

Match List T with List IT :

(A)
®)
(C)
D)

ListI

(Soil Type)
Laterite
Saline
Black

Red loam

List 1T

(Places of occurrence)

(). ' Rahr plain

(I) Maharasthras plain

(I Rajmahal Hills
(IV) Kutch region

Choose the correct answer from the options given below :

(1)
@

(A)-AD. (B)-AV), (O)-(11L), (D)-(D)
(A4)-AV), (B)-(1D. (O)-ID), (D)D)

prepp
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(3  A@-dID. B)-IV). (O)-IAD. (D)D)
4)  A-av), ®-dn, (O)-@), (D)-d1I)

H=-1 3% w1 g1 firem e

A1 ge-II

eI =l YR 1% JAHT 9Tt 018
A weuR @® W H A
B @ (D) WERTg < Ao
(C) wreh (I Tswge i gaifeat
D) o g V) =0 &3

= fee no faeedi W O wE 3w % wA Fifd .

1) @I, B)-IV), (O-I1D), M)-D)
2y @-aAV). B-dD., (O-IID. M)-D
3  A)-dm, B)-aV), (O-1D), )-1)
@  A-aV). (B)-ID, (O)-aD. D)-dID

[Question ID = 370][Question Description = Q70_Geog _SH1_Set1_A]
1. 1 [Option ID = 1477]
2. 2 [Option ID = 1478]
3. 3 [Option ID = 1479]
4. 4 [Option ID = 1480]

71)
Match List I with List 11 :
List I List II
Transport Network Measures Defimition
(A) Network Density (I) Average length per link
(B) PilIndex (I Transport network in terms of km of
links (L) per square kilometer of
surface (5)
(C) EtaIndex (III) The relationship between total length
of the graph (G) and the distance a log
1ts diameter D(d)
(D) Theta Index (IV) Average amount of traffic per
intersection
Choose the correct answer from the options given below :
(1) A)-@), B)-AD, (O-I1L), (D)-AV)
2y  (A)-an, B)-O. (O)-1V), (D)-I1DH)
3  A-AID. B)-D. (CO)-(IV), O)-1D)
4) (A)-(ID), (B)-(1ID). (C)-@). M-AV)
-1 % Wy 1 g1 e il
-1 111
qiagA 4eah HIH RIER L)
(A) “Tds g9 @ i gen (fGep) 3iiea waw
® 3 gEEs () Gag & ufa =) feandter o =1 . fi. &
gy § yiEgd T

Py ey p—————— T -l el S ——— ——— e —ue —
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LS

D)

4= feo 7o foepedl B 9 9@ 3 %1 999 S .

(1)
@)
(3
(4)

CASTIS N e C b

offe1 g

(A)-(I). (B)-(ID), (C)-(I1I), (D)-(IV)
(A)-(ID), (B)-(D), (C)-AV), (D)-(III)
(A)-1D). (B)-(D). (O)-AV), (D)-dI)
(A)-aD. (B)-ID. (C)-[). (D)-(IV)

fALLy AT YN 3’\:! VMY WFTIN TATIE WeITT TE TR \ﬂl

& €19 ey
@v) vfa ufe=sfea ofma I 6 wEn

[Question ID = 371][Question Description = Q71_Geog_SH1_Set1_A]
1. 1 [Option ID = 1481

3. 3 [Option ID = 1483

]
2. 2 [Option ID = 1482]
]
]

4. 4 [Option ID = 1484

72)

Maich List I with List I1

(A)
(B)
©)
(D)

Tast I

Whitlesey's Agricultural region
Commercial dairy farming
Commercial grain farming
Nomadic herding

Commercial plantation

Last IT

Name of country
(I Mangoha
(I Snlanka
(III) New Zealand
(IV) Argentina

Choose the correct answer from the options given below :

(1)
2)
3
(4

A)-. B)-1D. (O)-1L). (D)-AV)
(A)-(1D), (B)-(1ID, (C)-AV), D)-(I)
(A)-ID. B)-AV). (O-O. O)-AD
(A)-AV), (B)-(), (C)-AD), (D)-T)

H=-1 % Wi 1 G-I frerm Hifom .

(A)
(B)
(©)
D)

F few o faeedil § 8 Ol 3w 1 = it

oy
2
3
@

-1
fareerl &1 By wam

Fifirfas gu I
Tifvfsaes @rema Ierea

ATATR T
arforfseres e

(A)-(). B)-dD), (C)-(I), (D)-{IV)
(A)-ID. B)-AID. (O)-AV). O)-D)
(A)-(IID), (B)-IAV), (C)-1), (D)-(1I)
A&)-Iv). B)-a1D). (O)-dD. M-D

oAl I1

9 &A™

a0 e
(IID) =Yeficiz
(IV) AU

[Question ID = 372][Question Description = Q72_Geog_SH1_Set1_A]
| 1. 1 [Option ID = 1485]

prepp
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| 2. 2 [Option ID = 1486]
3. 3 [Option ID = 1487
4. 4 [Option ID = 1488]

73)

Match List I with List I1 ;
Tast I Last IT
Tropical Disturbances Wind speed in circulation (in kmph)
(A) Low pressure area (D 89-118
(B) Cyeclonic storm (I 31 -—49
(C) Depression (I <31
(D) Severe cyclonic storm (IV) 62— 88

Choose the correct answer from the options given below :

1)  @A)-av). (B)-aD. (C)-(I1D. (D)-(D
@  (A)-dID. B)-AD. (O)-D. (D)-AV)
(3  A-II), (B)-AV). (O)-dD). ()-0)
@ A0, ®»-AV), (O-1ID. O)-ID

-1 % Ty & g1 foem i
-1 =-11
IR faeim gfeaeror § 9= &) T (fedh) ufa g
&) = zEE am @ 89-118
(B) IHITdE JHIH (I 831-49
(C) HAg9HH (1D =31
D) T THAEE THEA aIv) 62-88
e feu o fawmedi § 9 98 3w+ 939 Sifsw
(1) (A)-IV), (B)-II). (C)-dID. (D)-D
2) A-JDm, B)-IDn. (C)-@). MD)-aV)
3)  A-IID. B)-AV). (O-AD. M)-D
@  A-O, ®-IV), (C)-amm, D)-(I0)

[Question ID = 373][Question Description = Q73_Geog _SH1_Set1_A]
1. 1 [Option ID = 1489]
2. 2 [Option ID = 1490]
3. 3 [Option ID = 1491]
4. 4 [Option ID = 1492]

74
} Match List I with Tast IT :
List I List IT
Cultural Terms Definition
(4) Cultural Hearth (.= Cultural parameter that specify
learned behaviour
(B) Cultural Landscape (II) Areas of innovation from which key

cultural elements diffused to
surrounding areas

(C) Cultural traits {Il) Surfaces or areas modified by human

prepp
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(D) Cultural Realms

(IV) Caultural

action to pI‘DﬂIIGE tanglble and
physical records over a period of time

regions showing related
cultural complexes and landscapes

Choose the correct answer from the options given below :

1)  @A)-aD, B)-IV). (O)-D, (D)-A1D
@)  A)-d, B)-ID, (O)-M. (D)-AV)
3  A-AID. B)-AV). (O-O. @)-AD
@  @-dh. (B)-dID. (C)-@. (D)-AV)

gA-1% " 1 g1 frerm Hife

(A)

®)

(©)

(D)

Hra feu o Rrepedt § @ wE I 1 =R i

(1
2
(3)
4

g1

L= RCHER
R T
HiEpfah -5
HREHTh 0
et whmves

(A)-(ID). B)-AV), (C)-D). (D)-1ID
(A)-(IID). B)-(1D), (O)-M), (D)-(IV)
(A)-ID. B)-IV), (©)-O), (D)-AD)
(A)-(ID). (B)-I), (C)-(D), (D)-(IV)

geil-11

TR

D wEEnfes THee S fagargl srEgr i gt

(]

(D af=as & 99 R yge usfe T

FAH-9E & 271 1 yariE| &1 e 2|

A1 fEh guamafy § gy st g ufafda g

Hefg Y1 & H1 qd va vifas feerg

IV) wafya eesfos wEsi aun y-geE @)

Zaaren Wit A

[Question ID = 374][Question Description = Q74_Geog SH1_Set1_A]
1. 1 [Option ID = 1493]
2. 2 [Option ID = 1494]
3. 3 [Option ID = 1495]
4, 4 [Option ID = 1496]

75)

Match List T with Tast I :

List I

Land forms

{A) Monadnocks
(B) Bhnd valley
(C) Drumlins

(D) Zeugen

D
ey
(11L)
v

List II

Agents of gradation
Wind

Glaciea

River

Ground water

Choose the correct answer from the options given below :

1 A-AD. (B)-aD. (O-O). O)-aAV)
@2  A-aV). B)-ID, (O)-D. (D)-D
3@  A-O. B-ID. (O)-aV), (D)-AID
¢  @A-n. B)-av). (O-an. O)-O
gHI-1% Ty = G-I frem ifd
=T

= 1T
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(A)

(B)
(©)

(D)

-3l a1 FgeH & R
WA @® v

39 gl (In feg

gafer (Il =l

T (V) i e

4= feu o faesedl @ wEl SR w1 9 Hifdu

(1)
@
(3)
@

(A)-aDn, B)-(IID), (C)-@), (D)-IV)
(A4)-aAv), (B-aD. (O)-a1D, (D)D)
A)-M, B)-ID), (O)-1V), (D)-I1D
(A)-dID, (B)-IV). (CO-ID, (D)D)

[Question ID = 375]1[Question Description = Q75_Geog _SH1_Set1_A]
1. 1 [Option ID = 1497]
2. 2 [Option ID = 1498]
3. 3 [Option ID = 1499]
4. 4 [Option ID = 1500]

76)

Frofafiea 3 &R @ v YieEmaT $ TR wEE () 98 HEH 37

Which one of the following is the correct chronological sequence of the German School of

Geographers?

(A) F.V. Richthofen — F. Ratzel — Alfred Hettnen — Oscar Paschel
(B) F. Ratzel — Oscar Paschel — F.V. Richthofen — Alfred Hettner
(C) Alfred Hettner — Oscar Paschel — F.V. Richthofen — F. Ratzel
(D) Oscar Paschel — F.V. Richthofen — F. Ratzel — Alfred Hettner

(E)

F.V. Richthofen — Alfred Hettner — F. Ratzel — Oscar Paschel

Choose the correct answer from the options given below :

(1
2)
(3)
@

(A) and (D)
(C) and (D)
(A) and (B)
(D) only

(A) U = - UF 19 - ST6S 3R - AT I
(B) U% 9 - 3wt e - v off meien - s1ewd gam
(O % EN — 3 e - k. |t fmas - o &
(D) S IrRae - U6 ot REEe - 0% Wi - 306 3
E) T REAHE - FOFE TR - TF 1o — AT I5=d
= feu mu famwedi 4 ¥ 9 IR & =1 Hifo

L) (A IRD)

@ (C)3RD)

(3 AIR®
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(4)  HEd (D)

[Question ID = 376][Question Description = Q76_Geog_SH1_Set1_A]
1. 1 [Option ID = 1501]
2. 2 [Option ID = 1502]
3. 3 [Option ID = 1503]
4. 4 [Option ID = 1504]

77)
Indian States are arranged in ascending order on the basis of road length (2017)

(A) Tamil Nadu
(B) Karnataka
(C) Maharasthra

(D) Gujarat

Choose the correct answer from the options given below :

(L (©).3B), A DO
2y (A).B).©C). D)
3  B.0O.0.
4 @D.3). A ).

TEH AR (2017) & YR W ARERE T & A0 60 1§ sqafem =t

@)  dfieErg
B) FAREH
© R
D) TRE

i few o faeredi ¥ O wEl I %1 == Sifa

1 ©.B). Q. D
@  @.®. C.0O
3¢ B0, D0, A
@ D), ®),. A, ©)

[Question ID = 377][Question Description = Q77_Geog_SH1_Set1_A]
1. 1 [Option ID = 1505]
2. 2 [Option ID = 1506]
3. 3 [Option ID = 1507]
4. 4 [Option ID = 1508]

78) Arrange the following layers of vegetation on the basis of their height in ascending order
(A) Dominant layer

(B) Herbaceous layer

(C)  Codominant layer
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(D)

Choose the correct answer from the options given below :

(1)

(2)

(3)

(4)

Frofefea Tvegfadl & @ 9 3% F96E 5 N9R W R H0 9 syafer £

(A I w

(B) YIHY T

(© Tl TR

@O -

#ra fou mo fomredi 4 @ w8 I w1 T Fifsw
1 B (C). A). D)

2 O.0.B). &

3 A.3®. 0.0

4 D). ®B.C).©A

[Question ID = 378][Question Description = Q78_Geog_SH1_Set1_A]

Ground layer

(B). (O). (A). (D)
(D). (C). (B). (&)
A). (B). (C). M)

D). (B). (C). (A)

1, 1 [Option ID = 1509]
2. 2 [Option ID = 1510]
3. 3 [Option ID = 1511]
4. 4 [Option ID = 1512]

79)

U dfed e S (A9) 5 A 8 % Heo | syafem Hifsw

(A4)

Arrange the following with respect to the interior of a thunderstorm cell

(&4)
(B)
(©)

(D)

Choose the correct answer from the options given below :

(1)
(2)
3
(4)

Downdraft
Rain
Storm travel

Anwvil top

©). D). ). B)
®). (). D). )
(4). (B). (C), D

(B). (C). (A). (D)

SI3gIH
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(B) a9
(© |MHEA
(D) wAfaE 2

= feu e faeredi 9 wEl I W e Hif

@D (©. O A, (B)
@ ®B.0.0. A
3 A.3B),.©C).D
@ B.0) A, D

[Question ID = 379][Question Description = Q79_Geog_SH1_Set1_A]
1. 1 [Optien ID = 1513]
2. 2 [Option ID = 1514]
3. 3 [Option ID = 1515]
4. 4 [Option ID = 1516]

80)

Which of the following states recorded literacy rates in descending order as per census
2011 data?

(A) Kerala
(B) Himachal Pradesh

(C) Haryana

(M) Odisha

Choose the correct answer from the options given below :

(1)  A). D), ©), B
2 ®.A).0). D
(3) (&) (B). (). (D)
4 (&), (©), ®),. D)
2011 6t THUET 5 HS % IFFHIR G 5 U sy 4 Frafefian v @1 ford)

(A =

(B) Teursw wew

(C)  giamn

(D)  afifgm

4= feu mu fampeal 9 9 ol 3R =1 =599 i

1 @D ©. 3B
2 3. A, 0C).O
(3) (A).®B), (). D)

Far B % FANY At ST ST
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[Question ID = 380][Question Description = Q80_Geog_SH1_Set1_A]
1. 1 [Option ID = 1517]
2. 2 [Option ID = 1518]
3. 3 [Option ID = 1519]
4. 4 [Option ID = 1520]

2 Arrange the given years in descending order on the basis of number of people affected by
natural disasters in India?
(A) 1988
B 1989
(Cy 1985
@ 1991
(Ey 1994

Choose the correct answer from the options given below :

1) @&, (©). (B). D). (E)
@ D), A, ®B). O (E)
3 B, A), E).D), O
@ (B, DB ©). &

H= fou 1o ast #i ura ° wiefas angqa gra wsifaa S s wen F snur wosEE % 4 afRa

i

(A) 1988
(B) 1989
() 1985
D) 1991
(E) 1994

H= fow v el O 8 g I @ =9F S

(1)  A).©. B, D). E)
2 @O. @A), @), (C). E)
3 (B), A), ). D). (O

4y (E. D). B), (). A)

[Question ID = 381][Question Description = Q81_Geog_SH1_Set1_A]
1. 1 [Optien ID = 1521]
2. 2 [Optien ID = 1522]
3. 3 [Option ID = 1523]
4. 4 [Option ID = 1524]

82)
Which of the following is the correct sequence in the development of geographic thought?

(A) Greeks. Roman, Arabs, Dark Ages

(B) Greeks. Roman, Dark Ages, Arabs
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n

(©)
(D)
(E)

Roman, Greeks, Arabs, Dark Ages

Arabs, Greeks, Roman, Dark Ages

Greeks, Dark ages, Roman, Arabs

Choose the correct answer from the options given below :

ey
(2)
(3)
(4

frafafaa 4 | wries Toar & fowm § frofafes - e soam @ e

(B)
)
(C)
(E)

(A) B, WA, 3RE, JUHE 0

(B) Ui, UO4, FUBRIT, 3E

(C©) U, e, T, TSR

(D) 3, Uik, T4, FAIHR 7

(E) e, A9FR T, U949 3105

Hra feu e feormedt 8 @ ) 3R & AR il .
1 ®

2 @

@ (©

4 (E)

[Question ID = 382][Question Description = Q82_Geog_SH1_Set1_A]
1. 1 [Optien ID = 1525]
2. 2 [Optien ID = 1526]
3. 3 [Optien ID = 1527]
4. 4 [Option ID = 1528]

83)

Arrange the following states in ascending order on the basis of percentage of trbal
population (2011) :

(A) Madhya Pradesh

(B) Maharashtra

(Cy  Rajasthan

(D) Meghalava

Choose the correct answer from the options given below :

L
(2)
(3)
4

(A4). B), (C). D)
(©), (D), (B), (A)
(B), (C), (A), (D)

(D). (A), (B). (O)

prepp
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fF=afafiga v=a 6 Iarda sEen (2011) & wiae@ & 3R W AAE A 0 s &=

(&)

®)

©

D)

oI

HERTR

ST

Hererd

Hi= fen mu faeedi @ | g 3w w1 994 il

(1)
2
(3
@

(A), (B). (C). D)
(©€). M. B). W)
(B). (C), (A). (D)

D). &), (B). (O)

[Question ID = 383][Question Description = Q83_Geog_SH1_Set1_A]
1. 1 [Option ID = 1529]
2. 2 [Option ID = 1530]
3. 3 [Option ID = 1531]
4. 4 [Option ID = 1532]

84)

Arrange the following in a spatial order from equator :

(A)
(B)
©)
(D)

Choose the correct answer from the options given below :

)
2
(3
4

Northeast trades
Horse latitudes
Doldrum

Westerhes

(©). (A). (B). D)
B). (C). D). (A)
(A), (B), (C), (D)
D). (A, (C), (B)

frofafaa ®1 yae @ 3 5% wafies w4 safin =

(A4

(B)

(€)

D

I qd =AMTiE deH
g T

SleigH

TREl qaA

= few o faeedi A O wEl I o = difa .
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(D
2
(3
4)

(©€). ). (B). D)
®B). (©). D). (A)
(4). B), (O), (D)
D), &), (C). (B)

[Question ID = 384][Question Description = Q84_Geog_SH1_Set1_A]
1. 1 [Option ID =

Which one of the following 1s the correct sequence of oceanic currents of Northern Pacific

2. 2 [Option ID =
3. 3 [Option ID =
4. 4 [Option ID =
85)

Ocean

(&)

(B)

(©)

(D)

Choose the correct answer from the options given below :

o))
2)
(3
C)

1533]
1534]
1535]
1536]

West wind drift

North Equatorial current
Kuroshio current

California current

A). B). (C), @)
(C). M), (B), A)
(B). (C), (), (D)
(D). (A). B), (O)

I YA HEMEPR H 9E) 9ed & 9 e Fefolaa ¥ ¥ e 27

A)

®B)

©)

D)

Hrar feu o fawmedi 9 9 | I H W Hi

(1
2
(3
@

[Question ID = 385][Question Description = Q85_Geog SH1_Set1_A]

(A), (B), (C), D)
(C). D), (B). (A)
(B). (©), (4). (D)
D). (&), B). (C)

1. 1 [Option ID = 1537]
2. 2 [Option ID = 1538]
3. 3 [Option ID = 1539]
4, 4 [Option ID = 1540]

prepp
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86)

Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as

Reason R.

Assertion (A): At greater ocean depths; water moves extremely slow and maintains a
uniform low temperature.

Reasons (R) : The oceanic surface returns heat and water to the lower atmosphere.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 18 not correct but (R) 1s correct

A 21 A U e 2 U AEUS (Assertion (A)) % ¥9 § farflga @ df gRU 3% HWU (Reasons
®R) F &4 W ;

afFE (A): g HI AT TEUE W U e ol 1 9@ wEa 2 3R wA e qmmm amn

Tl 2|

HR (R) : TR "ag I AR g B Fe@ agaea A aws il 2

IR H & A °, i feu T famedi 1§ B wed Iuges I W Hife

(1)
@
(3
@

(A) 3 (R) i & & 3 (R), (A) H qE =rEn 3

&) 3 ®) <H w7, o ®), (A) 1 wd smen =1 2
(A) 5 B, AfFa (R) =&t 7 2

(&) W 7 2, S (R) v 2

[Question ID = 386][Question Description = Q86_Geog_SH1_Set1_A]
1, 1 [Option ID = 1541]
2. 2 [Option ID = 1542]
3. 3 [Option ID = 1543]
4. 4 [Option ID = 1544]

87)

Given below are two statements : One is labelled as Ascertain A and the other is labelled as

Reason R.

Assertion (A) :

controls. that unite members of a culfure group.

Reasons (R) : Polytheism adheres to belief in many religious beliefs.

In the light of the above statements, choose the correct answer from the options given below :

(1)

Both (A) and (R) are true and (R) 1s the correct explanation of (A)

Value system 1s a commonly held set of beliefs. understandings and

prepp
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(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s not false
(4) (A) 1s false but (R) 1s true

4= @ &3 few o 2 s SfiEsem (Asseﬁion(ﬂ))%mﬁﬁ'@ﬂ%ﬁqyﬂmw{Reasnns
(R)) &% 9 H :

Ffyeea (4): Hqod ugfa Tavaml, geryfeai stk vl w0 98 g gyg 2 S fedl arapios
HE % HeXdl F OF gF Fga 2|

F] (R) : agears U @M &% gl smenati ¥ v v §)
IR HA F e °, 9 fou mu famedi O & gew Iugw I w1 95 Hifw

QO Q) 3 ®) A T 3R R), (A) F T e 2

@ A @ I g €, A ®), (A) F T e = 2
(B (A FH B, a1 R) s 2

@ (A 3Ed g, Al (R) 8 2

[Question ID = 3871[Question Description = Q87_Geog _SH1_Set1_A]
1. 1 [Option ID = 1545]
2. 2 [Option ID = 1546]
3. 3 [Option ID = 1547]
4, 4 [Option ID = 1548]

88)
Given below are two statements :

Statement I :  Photographs are originally produced in analogue form.

Statement II :  Image is produced in digital form.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement 11 is incorrect

(4) Statement I 1s incorrect but Statement II 1s correct

SIERAE SRR A

HY I: BTG erd: TATAM ¥ H oF g 2l

F I1: T fesiied ¥9 4 dq9r 2a 21

IR A B 0 4, e fou o fowedi O o aeE I9 I wE Fife
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(1)
)
3

(4)

FYA I 3 IS =&t 2
e[ I 3 11 §Hi Teia 3
% 19 8, <ifea e I 7Terd 2

F2 16 2, A oA I 6d 2

[Question ID = 388][Question Description = QB8_Geog_ SH1_Set1_A]
1. 1 [Option ID = 1549]
2. 2 [Option ID = 1550]
3. 3 [Option ID = 1551]
4. 4 [Option ID = 1552]

89)

Given below are two statements :

Statement I :  Highest source of marine pollution i1s shipping.

Statement IT :  The South-East Asia has highest percentage of endangered coral reefs

by marine pollution.

In the Light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II 1s false

(4) Statement I is false but Statement IT is true

=t 2 Fem few o #

FYA 1: WO TGV & ITaW Hia AafEa 2

s IO: gem gl wftrn 3 audl weww g s yarentuii w5 I=aw wfowa 2

U HYA &+ A 4, = fow o faswedi 0 | w90 3w W H 95F Shifdw

1)

(2)

(3)

4)

Feq I 3 IT2F 9 @
Fu I 311 II ST Terd 8
w9 [ 9 8, A &y 11 315 2

F2F 1 378 2, frT Fe[ 116 2

[Question ID = 389][Question Description = Q89_Geog_SH1_Set1_A]

o

90)

. 1 [Option ID = 1553]
2 [Option ID = 1554]
. 3 [Option ID = 1555]
. 4 [Option ID = 1556]

prepp
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(1ven below are two statements ; One 15 labelled as Ascertain A and the other 1s labelled as

Reason R.

Assertion (A): Prices and demand of real estate increases as distance towards CBD
reduces

Reasons (R) : Central Business District (CBD) of a city has high concentration of retail

store offices and cultural and recreation activities.

In the light of the above statements, choose the most appropmate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s correct but (R) is not correct

(4) (A) 1s not correct but (R) 1s correct

Hra 3 %om fou o 2 ;o fUmYR (Assertion (A) % ¥9 4 foiflga 2 91 g8 359 HH (Reasons

R) FEIH ;

A (A) {ioret W2 <l =himd SR A wedl 8 8- | i € o ave gt wedt 2

&1 (R) : S ¥E W hor ogadifys 23 (HEid) ggu wer wrtedi otk ansfaw i
TS 61 wiafafei 1 3= gdhgm 2

Uik hEF & ATl 4, i feu u faspeui d & wad Iuges I 9 Sifan

(1)
@)
(3)
(4)

(A) 3 (B) 1 51 § 3R (R), (A) ! G2l =wrE 2

(&) 3T (R) T Wl 8, Wl (R), (A) i @l saen 74 &
Q) T 2, wfF (R) a8 4 2

@) ¥ = 2, o ®) 9 2

[Question ID = 390][Question Description = Q90_Geog _SH1_Set1_A]
1. 1 [Option ID = 1557]
2. 2 [Option ID = 1558]
3. 3 [Option ID = 1559]
4, 4 [Option ID = 1560]

Topic:- Geog_SH1_5et1_B

prepp
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S.No. Temperature/°C Numbers of stations
0-10
10—-20
20 - 30
30— 40
40 — 50
50 — 60
60— 70
70— 80

o =1 o O e W o
2 W ok Ot e W N
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0 80 - 90 1

Answer the following questions on the basis of above table

-

0-10
10-20
20— 30
30 — 40
40 - 50
50 — 60
60 - 70
70— 80
80— 00

=i
;
e
)
N - T N T
g

L= T R L B o N L

T 71w gei % I 3w Anefl % s W)

What percent of stations recorded temperature between 30°C to 70°C?

(1) 40 (2) 54
(3) 62 4) 64

fepan wfdwra S W FOHE 30°C ¥ 70°C IS T e

(1) 40 (2) b4
(3) 62 (4 64

[Question ID = 391][Question Description = Q91_Geog_SH1_5Set1_B]
1. 1 [Optien ID = 1561]
2. 2 [Option ID = 1562]
3. 3 [Optien ID = 1563]
4. 4 [Option ID = 1564]

2) S.No. Temperature/°C Numbers of stations

0-10
10—-20
20-30
30 — 40
40 — 50
50 — 60
60— 70
70— 80
80 - 90

0w = o O e 0 b
[l = B o B S & L T = T

Answer the following questions on the basis of above table
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40 - 50
50 — 60
60 - 70
70— 80
80— 00

e 0w =) & n
bk W o On

T e geAi & 39 3w Anell % s W

The number of stations that recorded temperature less than 40°C :

1 3 @ 9
3@ 10 4 5

40° Y. ¥ FY TN R FE T Pl H HEA

(D 3 (2)
3 10 )

o o

[Question ID = 392][Question Description = Q92_Geog_SH1_Set1_B]
1. 1 [Option ID = 1565]
2. 2 [Option ID = 1566]
3. 3 [Option ID = 1567]
4, 4 [Option ID = 1568]

) S.No. Temperature/°C Numbers of stations

0-10
10-20
20 - 30
30 — 40
40 — 50
50 — 60
60— 70
70— 80
80— 90

w0 = oy O e W b
(oS o SR o B S & - N+ R o~

Answer the following questions on the basis of above table

%. @@ 99 (%8.) g 6 gen
0-10
10-20
20 - 30
30 — 40

50 — 60
60 - 70

1

2

3

4

40 — 50 5
4

3

70— 80 2
1

w0 =1 S Ot e W B

80—-90

few oyl % I IwdeE wrell & snaw w S

The average temperature in the region is :
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(D 40°C (2) 45°C
(3) 50°C 4) B5°C
&4 1 Jifed 9 2
(1) 40°C (2) 45°C
(3) 50°C 4) B5°C

[Question ID = 393][Question Description = Q93_Geog_SH1_5et1_B]
1. 1 [Option ID = 1569]

2. 2 [Option ID = 1570]

3. 3 [Option ID = 1571]

4. 4 [Option ID = 1572)

4) S.No. Temperature/°C Numbers of stations

0—-10
10— 20
20 - 30
30 — 40
40 — 50
50 — 60
60— 70
70 — 80
80— 90

0 = o O e D b
= N W e O e W N =

Answer the following questions on the basis of above table

-

0-10
10-20
20— 30
30 — 40
40 - 50
50 — 60
60 — 70
70— 80
80— 00

cl
d
2
i
Hmm-&mﬁmwn—-ﬁ)
g

= N s e - O L

fow Tyl % I 3Udw well F snaw ot g

Which one of the following i1s the median of the above data?

(1)  45°C (2) 35°C
(3) 55°C (1) 40°C

Il e 6 MO B 27

(D 45°C (2) 35°C
(3) 55°C (4) 40°C

[Question ID = 394][Question Description = Q94_Geog_SH1_5et1_B]
1. 1 [Option ID = 1573]
2. 2 [Option ID = 1574]

| 3. 3 [Option ID = 1575]
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a
1
e - - I CO O
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4 [Option ID = 1576]

S.No. Temperature/°C Numbers of stations
0-10
10-20
20 - 30
30 — 40
40 — 50
50 - 60
60— 70
70— 80
80 - 90

0 = oy O e L b
= N W e Ot e W D

Answer the following questions on the basis of above table

-

0-10
10-20
20— 30
30 — 40
40 - 50
50 — 60
60 — 70
70— 80
80— 00

e ®m = R O W W b =

fem e gl % I 3w Arefl % g o i

The Third Quartile (Qs) of the distribution 1s :

(1)  45°C (2) 49.375°C
(3)  45.5°C (4) 59.375°C
farau =1 gt wqds (Qa) @

(1)  45°C (2) 49.375°C
(3)  45.5°C (4) 59.375°C

[Question ID = 395][Question Description = Q95_Geog_SH1_Set1_B]

1.
2
3
4,

1 [Option ID = 1577]
2 [Option ID = 1578]
3 [Option ID = 1579]
4 [Option 1D = 1580]

Topic:- Geog_SH1_Set1_C

prepp
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1)

Geography as a discipline 1s focused on understanding the relationship between Man and
Nature. It 1s built on experiences of successive generations. The history of geography is
basically concerned with the development of human consciousness about the possibilities and
limiatations that nature offers for human growth. The word geography was first used by the
Greek scholar Eratosthenes in the third century. Hartshorne said that Geography provides
rational description of the earths surface above and below depending on the progress in
technology. The study of man is the realm of humanities, where as science focused on the

study of nature. Geography studies them simultaneously.
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However geography as a umiversity level discipline started only in the ninetenth century.
Humboldt and Ritter demonstrated the usefulness of Geography as an universal science.
After this period many scholars ike Ratzel and Richtofen in Germany, Blache and Reclus in
France projected it as an integrated study. Man, Nature relationship, hormony with nature
led to concepts of Determination and possibilism, however Kant tried to address this
confusion to a certain extent. With the emergence of different schools of thought Dualism and
Dichotomies in Geography like general versus regional — physical versus human — Historical
versug contemporary — Nodal versus regional concepts developed; and prevailed. The advent
of quantitative revolution had further diversified the disciphine. Paradigm, systems approach
and models in geography became significant aspects of modern geographic thought. Paradigm
proposed by Kuhn had references on areal differentiation, exceptionalism. spatial analysis.
Mouodels 1n Geography made significant progress. Modern Themes in Geographic thought like

positivism. pragmatism, functionalism etc work introduced.

it Tyl o GITHR W U5 T IR A

TF T R w9 0 e w Fpeg 9 SR T B dE F Fed i gae 2| 78 fer 6w e
mammwéiWmmm%mﬂmwmmﬁmaéﬁmﬂmmm
ferrme 25 wepfa e it dimmd wem F 31 TEwd (gme) weg w1 TEE w9E TEel 3AE1 fagE
ﬁa@ﬁaqé@mﬁmmﬁﬁﬁ%mmw%ﬁmﬁmﬁ%mmﬂﬂﬁﬁg—aﬁ%m
sttt et 1 T Ao g ARl 21 E o AR AARE faE st siers a1 W w3, qad
S Rl T wpla & e W a2 21 e ST R G-Rie e AT )

Zieite Pier =1 faralnermealn s el @ @ s 1 aiw gen geivse st fex 7 dAftas
ferg % wu o wier 61 st fag i 5@ e % 91 wE TgEl A, S8 T e SR faee sl
i T ST TR W A, 3 whiRd AT o T 4 W a R A -Ea 9ed 3 T % ury aeeE
4 Frerar o grwaamEr i srEgroneT F T g Tt 2 4 T 90 F 58 o5 9% @ A H
v | il femars % sga @ i J faan o fgwsEl w1 werdon gen; 9w s aef,
Wi T A, VaeIas S0 e, TS s 8HE g f9H@g R Taid 551 S
FQ % A ¥ 39 9 F IR O gen| viowm, Fem ugia @it diifers oise sngie wrmer
W%m@mmmiﬁmmﬁﬁﬁﬁnﬂ*%ﬂaﬁﬁm AT, S TP Sgeram
% =gl o) dimifers il @ FH Wi gEl diniters Few @ vodEr, SEiiTaEg sk wweEr S

sl faat =t wrn T

Who were the first to use the word Geography?

()  Arabs
(2) Roman
(3)  Greeks
(49  Chinese

‘TRl wee = WA g9y uge TRk gra e e

(1 e
@ M
3
@ o

[Question ID = 396][Question Description = Q96_Geog_SH1_Set1_(]
1. 1 [Option ID = 1581]
2. 2 [Option ID = 1582]
3. 3 [Option ID = 1583]
4. 4 [Option ID = 1584]

2)

Geography as a discipline is focused on understanding the relationship between Man and
Nature. It 1s built on experiences of successive generaﬁions. The history of geography 18
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basically concerned with the development of human consclousness about the possibliitlies and
hmitations that nature offers for human growth. The word geography was first used by the
Greek scholar Eratosthenes in the third century. Hartshorne said that Geography provides
rational description of the earths surface above and below depending on the progress in
technology. The study of man is the realm of humanities, where as science focused on the
study of nature. Geography studies them simultaneously.

However geography as a university level discipline started only in the ninetenth century.
Humboldt and Ritter demonstrated the usefulness of Geography as an universal science.
After this period many scholars like Ratzel and Richtofen in Germany. Blache and Reclus in
France projected it as an integrated study. Man, Nature relationship, hormony with nature
led to concepts of Determination and possibilism, however Kant tried to address this
confusion to a certain extent. With the emergence of different schools of thought Dualism and
Dichotomies in Geography like general versus regional — physical versus human — Historical
versus contemporary — Nodal versus regional concepts developed; and prevailed. The advent
of quantitative revolution had further diversified the discipline. Paradigm, systems approach
and models in geography became significant aspects of modern geographic thought. Paradigm
proposed by Kuhn had references on areal differentiation, exceptionalism, spatial analysis.
Models in Geography made significant progress. Modern Themes in Geographic thought like
positivism. pragmatism, functionalism etc work introduced.
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The usefulness of Geography as an Universal Science was demonstrated by

(1) Eratosthenes and Strabo
(2) Hecataeus and Hipparchus
(3) Humboldt and Ritter

(4) Aristotle and Eratosthenes

AfFes fasm & w9 4 i A I e fagm g fag e
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[Question ID = 397][Question Description = Q97_Geog_SH1_Set1_C]
1 [Option ID = 1585]
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| 2. 2 [Option ID = 1586]
3. 3 [Option ID = 1587
4. 4 [Option ID = 1588]

3)

Geography as a disciphine is focused on understanding the relationship between Man and
Nature. It 1s built on experiences of successive generations. The history of geography is
basically concerned with the development of human consciousness about the possibilities and
limitations that nature offers for human growth. The word geography was first used by the
Greek scholar Eratosthenes in the third century. Hartshorne said that Geography provides
rational description of the earths surface above and below depending on the progress in
technology. The study of man is the realm of humanities, where as science focused on the
study of nature. Geography studies them simultaneously.

However geography as a umiversity level discipline started only in the ninetenth century.
Humboldt and Ritter demonstrated the usefulness of Geography as an universal science.
After this period many scholars hike Ratzel and Richtofen in Germany, Blache and Reclus 1n
France projected it as an integrated study. Man, Nature relationship, hormony with nature
led to concepts of Determination and possibilism, however Kant tried to address this
confusion to a certain extent. With the emergence of different schools of thought Dualism and
Dichotomies 1in Geography like general versus regional — physical versus human — Historical
versus contemporary — Nodal versus regional concepts developed; and prevailed. The advent
of quantitative revolution had further diversified the disciphine. Paradigm, systems approach
and models in geography became significant aspects of modern geographic thought. Paradigm
proposed by Kuhn had references on areal differentiation, exceptionalism. spatial analysis.
Mouodels 1n Geography made significant progress. Modern Themes in Geographic thought like
positivism. pragmatism, functionalism etc work introduced.
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The concepts of Determinism and positivism emerged as a result of integrated Hinduism by

(1) Greek and Roman
() Greek and Arabs

(3) Roman and Arab
(4) {zerman and French

froagarg 3t geyedTarg 6 saurRunsti &1 fawr e vdhiga serm &1 ufeny on?
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(3)  THF 3R 3s

(4)  Sre 3T s

prepp

Your Personal Exams Guide



www.prepp.in

[Question ID = 398][Question Description = Q98_Geog_5SH1_5Set1_(]
1. 1 [Option ID = 1589]
2. 2 [Option ID = 1590]
3. 3 [Option ID = 1591]
4, 4 [Option ID = 15%2]

4)

Geography as a discipline is focused on understanding the relationship between Man and
Nature. It 1s built on experences of successive generations. The history of geography is
basically concerned with the development of human consciousness about the possibilities and
hmitations that nature offers for human growth. The word geography was first used by the
Greek scholar Eratosthenes in the third century. Hartshorne said that Geography provides
rational description of the earths surface above and below depending on the progress in
technology. The study of man is the realm of humanities, where as science focused on the
study of nature. Geography studies them simultaneously.

However geography as a university level discipline started only in the ninetenth century.
Humboldt and Ritter demonstrated the usefulness of Geography as an universal science.
After this period many scholars like Ratzel and Richtofen in Germany. Blache and Reclus in
France projected it as an integrated study. Man, Nature relationship, hormony with nature
led to concepts of Determination and possibilism, however Kant tried to address this
confusion to a certain extent. With the emergence of different schools of thought Dualism and
Dichotomies in Geography like general versus regional — physical versus human — Historical
versus contemporary — Nodal versus regional concepts developed; and prevailed. The advent
of quantitative revolution had further diversified the disciphine. Paradigm, systems approach
and models in geography became significant aspects of modern geographic thought. Paradigm
proposed by Kuhn had references on areal differentiation, exceptionalism, spatial analysis.
Models in Geography made significant progress. Modern Themes in Geographic thought like
positivism, pragmatism, functionalism etc work introduced.
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Which major development in Geographic studies during the recent period changed the
direction in its growth?

(1) Paradigm (2) System Approach
(3) Quantitative Revolution (4) Models
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[Question ID = 399][Question Description = Q99_Geog_SH1_Set1_C]
1. 1 [Option ID = 1593]
| 2. 2 [Option ID = 1594]
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| 3. 3 [Option ID = 1595]
4. 4 [Option ID = 1596]

3)

Geography as a discipline 1s focused on understanding the relationship between Man and
Nature. It 1= built on experiences of successive generations. The history of geography 1s
basically concerned with the development of human consciousness about the possibilities and
himitations that nature offers for human growth. The word geography was first used by the
Greek scholar Eratosthenes in the third century. Hartshorne said that Geography provides
rational description of the earths surface above and below depending on the progress in
technology. The study of man is the realm of humanities, where as science focused on the
study of nature. Geography studies them simultaneously.

However geography as a umiversity level discipline started only in the ninetenth century.
Humboldt and Ritter demonstrated the usefulness of Geography as an universal science.
After this period many scholars hike Ratzel and Richtofen in Germany, Blache and Reclus 1n
France projected it as an integrated study. Man, Nature relationship, hormony with nature
led to concepts of Determination and possibilism, however Kant tried to address this
confusion to a certain extent. With the emergence of different schools of thought Dualism and
Dichotomies 1in Geography like general versus regional — physical versus human — Historical
versus contemporary — Nodal versus regional concepts developed; and prevailed. The advent
of quantitative revolution had further diversified the disciphine. Paradigm. systems approach
and models in geography became significant aspects of modern geographic thought. Paradigm
proposed by Kuhn had references on areal differentiation, exceptionalism. spatial analysis.
Mouodels 1n Geography made significant progress. Modern Themes in Geographic thought like
positivism. pragmatism, functionalism etc work introduced.
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Which of the following is the recent development in Geographic studies?

(1) Regional geography (2) Astronomy
(3) Determination (4) Positivism
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[Question ID = 400][Question Description = Q100_Geog_SH1_Set1_C(]

1. 1 [Option ID = 1597]
2. 2 [Option ID = 1598]
3.

4. 4 [Option ID = 1600]

3 [Option ID = 1599]

Topic:- GP13_A
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1)
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within bracket and number of positive cases in a city on a particular day. Based on the data

in the table, answer question.

Consider the following table which contains number of corona test conducted in each hospital

Hospital Hospital | Hospital | Hospital | Hospital
A B C D
City (100) (B0) (100) {5
City 1 30 15 35 10
City 2 35 10 30 10
City 3 15 15 5
City 4 10 ) 15

HAdTeT HAGlet | HWATA HIATA H T
A B C D
- (100) | (5O (100) (50)
et 1 30 15 35 10
W 2 35 10 30 10
o 3 15 5 15 5
w3 4 10 5 5 15

Which city reported highest number of positive cases?

(1) City 2
(3) City4

1 T2
(3 =4

(2) Cityl
(4) City3

2 w1
(4 &3

e wIet  Hifsiea gieane safaasi <1 arftrran g < fore fiefi 7

[Question ID = 4538][Question Description = Q01_GP_29N0OV_51_SHAAN]

1. 1 [Option ID = 18152]
2. 2 [Option ID = 18153]
3. 3 [Option ID = 18154]
4. 4 [Option ID = 18155]

2)

Consider the following table which contains number of corona test conducted in each hospital
within bracket and number of positive cases in a city on a particular day. Based on the data

in the table, answer question.

Hospital Hospital | Hospital | Hospital | Hospital
A B C D
City (100) (50) (100) (50)
City 1 30 15 35 10
City 2 35 10 30 10
City 3 15 15 5
Citv 4 10 ) 15
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el arer R FER Hien oo TS o0 | #l T w0 919 F1 HEF F i i G A
fom € wmt § o ielifed 9Te T Safed s TEAT w1 oIl TE1 2| Aot ¥ STOE Wed % STHR W

s e e Ll | L
ST AT HEeT | HMA HEATA A
A B C D
T (100) (50) (100} (50)
ot 1 30 15 35 10
et 2 35 10 30 10
ot 3 15 5 15 5
et 4 10 5 5 15
What is the percentage of negative cases?
(1) 16.90 (2) 16.10
3) 15.66 4 16.67
frifea a e safFat & uivem #0217
(1) 16.80 (Z2) 16.10
3 15.66 4 16.67

[Question ID = 4539][Question Description = Q02_GP_29NOV_51_SHAAN]

1. 1 [Option ID = 18156
2. 2 [Option ID = 18157
3. 3 [Option ID = 18158
4. 4 [Option ID = 18159

3)  Consider the following table which contains number of corona test conducted in each hospital
within bracket and number of positive cases in a city on a particular day. Based on the data

]
]
]
]

in the table. answer question.

Hospital Hospital | Hospital | Hospital | Hospital
A B C D
City (100) (50) (100) (50)
City 1 30 15 35 10
City 2 35 10 30 10
City 3 15 5 15 )
City 4 10 5 15

Frfafea oo R =R Fifew o TS ST | il T S0 919 F1 8% % Hiaw i & &
fom 8w 9 ° dSiRa o o =fEn F g w5 gubn T 2 @l 1 ST WEd % ATYE W

T % I S
HAdTeT HAGlet | HWATA HIATA H T
A B C D
- (100) | (5O (100) (50)
et 1 30 15 35 10
W 2 35 10 30 10
T~ - A = T E =
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What is the ratio of positive cases in City 1 and City 3?
2 6:5
4 11:4

(1) 9:4
3) 9:5

&} 1 3tk fadt 37 difsfea wg o =afaaat # sum o= g7

(1) 9:4
(3) 9:5

@ 6:5
@ 11:4

[Question ID = 4540][Question Description = Q03_GP_29NOV_S51_SHAAN]

1. 1 [Option ID = 18160]
2. 2 [Option ID = 18161]
3. 3 [Option ID = 18162]
4. 4 [Option ID = 18163]

4)

within bracket and number of positive cases in a city on a particular day. Based on the data

in the table, answer question.

Consider the following table which contains number of corona test conducted in each hospital

Hospital Hospital | Hospital | Hospital | Hospital
A B C D
City (100) (50) (100) (50)
City 1 30 15 35 10
City 2 35 10 30 10
City 3 15 15 5
City 4 10 D 15

Frfafea arer R =R Hifen 0 TS ST | #l T S0 919 F1 F8F % S it & &
fom € w § ° dSiRa o v =R f gem w5 gwbn T 2 Gl 1 ST WEd F STYE W

T & I S

(1) 16
3 14

HAdTeT HHGRT | AN AA HEATA H ATl
A B C D
—-— (100) | (GO (100) (50)
odt 1 30 15 35 10
& 2 35 10 30 10
et 3 15 5 15 5
&t 4 10 5 5 15
What is the percentage of positive cases in City 47
(2) 13
4 15
i 4 9 difsiza oo o st & afewa = 20
@) 13

(1) 16
(3) 14

4 15
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[Question ID = 4541][Question Description = Q04_GP_29N0OV_51_SHAAN]
1. 1 [Option ID = 18164]
2. 2 [Option ID = 18165]
3. 3 [Option ID = 18166)
4, 4 [Option ID = 18167]

5)  Consider the following table which contains number of corona test conducted in each hospital
within bracket and number of positive cases in a city on a particular day. Based on the data

in the table, answer question,

Hospital Hospital | Hospital | Hospital | Hospital
A B C D
City (100) (50) (100) {5
City 1 30 15 35 10
City 2 35 10 30 10
City 3 15 15 5
City 4 10 B 15

Frefaiaa I W T9aR S o To® ST | il T HEE 709 F F5F % W i &l B3
fam ¥ wet § ° dielifea 91e T Safed s e 1 oIl TE 2 | Aot ¥ STOE Wed SR W

Uy % I I
3Tl A | AW | 3 AT

A B C D
= (100) | (50) (100) (50)

w1 30 15 35 10

7t 2 35 10 30 10

o 3 15 5 15 5

=2t 4 10 5 £ 15

Which hospital reported maximum number of positive cases?
(1) Hospital A (2) Hospital D
(3) Hospital B (4) Hospital C

50 75aT § o1fman =aEaat & Uierted g =i i e ey

(1) AT A

(3

(2) sHa D

A B @

e C

[Question ID = 4542][Question Description = Q05_GP_29NOV_51_SHAAN]
1. 1 [Option ID = 18168]
2. 2 [Option ID = 18169]
3. 3 [Optien ID = 18170]
4. 4 [Option ID = 18171]

Topic:- GP13_B

1) The level of teaching which demands the use of higher order thinking skills is :

(1) @)
(3) (4)

Memory level teaching Understanding level teaching

Reflective level teaching Creativity level teaching
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[Question ID = 4543 ][Question Description = Q06_GP_29NOV_51_SHAAN]
1. 1 [Optien ID = 18172]
2. 2 [Option ID = 18173]
3. 3 [Option ID = 18174]
4. 4 [Option ID = 18175]

2)

Which of the following are NOT the characteristics of adult learners?

(A) They are matured learners

(B) They can act rationally

(C) They search for a reasonably stable 1identity

(D) They can make balanced choice

(E)  Often question contemporary values

Choose the most appropriate answer from the options given below :

() (A and (B) only (2) (A)and (D) only
(3) (C) and (E) only (4) (C) and (D) only

Frafefas 7 o awws famtimt f fowwa 2 37

A4)
(B)
©)
D)
(E)
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[Question ID = 4544][Question Description = Q07_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18178]
2. 2 [Option ID = 18177]
3. 3 [Option ID = 18178
4. 4 [Option ID = 18179]

3)

Match List T with List IT :
Last I List IT
Factors influencing learning Mlustration
(A) Psychological (' Methods of teaching
(B) Socio-Cultural (I) Faculty relationship
(C) Institution (II1) Intelhgence
(D) Teaching-learning (IV) Family

Choose the correct answer from the options given below :

1  A-AD. B-IV). (O)-1). D)-AD
@  A-AV), ®)-dm, ©)-@, O)-dAn
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3  A-ADh. B)-Im), (O)-O. O)-AV)
@  A-dD, ®)-IV). (C)-dD, M-

g=i1-1 % 91y g=i1-I1 = fier <hifae -
-1 =11
FAterT 1 waTfed O I goT
@) AR I Frem-wgh
(B) WIS - ID) TFE-uwE
(€) = (I =g
(D) fergor-atterm (IV) wiEr

+ 5o U TEeat § 9@ UE S H 99 S,

1y @D, (B)-IV). (O)-(D). (D)D)
2y  A)-0V). (B)-IID. (C)-d). (D)-ID)
(3 (@I, B)-IID). (O)-O. (D)-AV)
(4  (A)-I). (B)-(IV). (C)-L). (D)-(I)

[Question ID = 4545][Question Description = Q08_GP_29NM0V_S51_SHAAN]

4)

e ld B

1 [Option ID = 18180]
2 [Option ID = 18181]
3 [Option ID = 18182]

. 4 [Dption ID = 18183]

The type of evaluation which gives feed-back to students as well as teachers is :
(1) Placement evaluation (2) Formative evaluation
(3) Summative evaluation (4) Diagnostic evaluation

T 1 TR T ferenforEt ua frert i wfoni® o g

(1) == g (2) TS qEATHA
(8)  TEFTHHS JATEA @) et goaEa

[Question ID = 4546][Question Description = Q09_GP_29N0OV_S1_SHAAN]

1.
Z:
3.
4,

3)

1 [Option ID = 18184]
2 [Option ID = 18185]
3 [Option ID = 18186]
4 [Option ID = 18187)

Given below are two statements :

Statement I: The 4 quadrants of SWAYAM are (1) Video lecture (2) specially prepared
reading materials that can be downloaded (3) online discussion forum for
clarifying doubts (4) Time to time assessment by experts.

Statement I1: Swayam Prabha is a group of 34 DTH channels denoted to telecast high
quality educational programmes on 24 x 7 basis.

In the hight of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement Il is false
(4) Statement I 1s false but Statement I is true

4= g o Ru e 2

F (D : T (WIHLUARLU.) F 4 9dE 5| (1) T EH (2) Ee w1 ¥ R ow
FTEPE Ul 9 Sreaete 96 o O (3) 21ared famm-famst 7=, v FHan & ol (@)
aa-oas W fasl g svwer

F (ID) : TPeawl 34 S1..09, B99a B Tk G998 & S 24 x 7 SIUR W Sed e 39 Seafine

R, P 1 i (i O TN

prepp

Your Personal Exams Guide



www.prepp.in

A AT TR AT l:ra oA e YL |

ST U+ HeAn 0, A 4w u famet 4 9 wEl 39w @ = fifa
(1) =HFIARII T2 |
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[Question ID = 4547 ][Question Description = Q10_GP_29NOV_S$1_SHAAN]
1. 1 [Option ID = 18188
2. 2 [Option ID = 18189)
3. 3 [Option ID = 18190]
4. 4 [Option ID = 18191]

) The probability of not accepting the null hypothesis when the alternative hypothesis 1s
acceptable 1s called :
(1) Rejection range (2) Demarcation
(3) Normative incidence (4) Power

T Fhfeus WTameudT M 7, FesulE weredar o orelEe 7 o geegeTar sead B

(1) ol wE @ draE
(8) AW "eT 4 wiFa

[Question ID = 4548][Question Description = Q11_GP_29N0OV_51_SHAAN]
1. 1 [Option ID = 18192]
2. 2 [Option ID = 18193]
3. 3 [Option ID = 18194]
4. 4 [Option ID = 18195)

7) : i, i
By what name this validity 1s known for where an assessment of the measurement vahdity of
a measure that compares it to another measure of the same concept that has been generated

from a different method?
(D Predictive validity (2) Construct validity
3 Concurrent vahdity (4) Convergent validity

Tz duar 760 T ° A 2 el a0 Juar B A 3HH gEFT 9AF Hehedd] aid g9 A Y
A 2 W T TH H gl B S0 = W27

(1) Tl dea (2) T AU
(3)  HHadl dudn (4) SAtaadl duar

[Question ID = 4549][Question Description = Q12_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18196]
2. 2 [Option ID = 18197]
3. 3 [Option ID = 18198]
4. 4 [Option ID = 18199]

) Which of the following are sources of verbal data?

(A)  Traffic signals

(B) Semustructured interviews
(C)  Narrative interviews

(D)  Focus groups

(E) Body language

Choose the correct answer from the options given below :
O (A, ®B).(C)only @) (B). (C)., (D) only
3 (©). D). (E) only 4} (A). D), (E) only
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EATEd 9 9 % dM9F € & 91 5 ¢

@ -

B  AEEEd AR
(C)  feremomiessh Fieesi
O A

(E) =ik s

+i= 2w v fmet 7 @ wE s @ 9Un Fifsu

D
(3

Fad (A). (B). (C) (2 Fad (B), (C), (D)
#Faw (C), (D), (E) @) Fa (A), (D). (B)

[Question ID = 4550][Question Description = Q13_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18200]
2. 2 [Option ID = 18201]
3. 3 [Option ID = 18202]
4. 4 [Option ID = 18203]

9)

Given below are two statements :

Statement I: A Systematic review can be described as a ‘rephcable and scientific’ process.

Statement I1: A transparent review may help us in mimmmizing personal and other hiases.

In the light of the above statements, choose the correct answer from the options given below

@
(2)
(3)
€

Both Statement I and Statement IT are true

Both Statement I and Statement II are false

Statement I 1s true but Statement I 1s false

Statement I 1s false but Statement II 1s true

fRdwmftum?,

0 (D): b goraid gl #1 aue ok wfemofir o fmmees’ wken 2

o (I1) : T THGEl GHA6m Safeash O gal Taiel i HY 0 § gAR TerHar K Thd1 ¢ |

IUh HUF b Ttk |, e g e fasent o @ wEl sw o weE il

(1)

@

(3

C))

o I otk I a1 o & |
A I ot I 2HT a9 B |
Fu 19 2, ot %9 11 38T 2 |

Ty I 10 2, S w9 ILOeT 2 |
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' [Question ID = 4551][Question Description = Q14_GP_29N0OV_51_SHAAN]
1. 1 [Optien ID = 18204]
2. 2 [Option ID = 18205]
3. 3 [Option ID = 18206]
4, 4 [Option ID = 18207]

10)

Match Last I with List IT :
TList I TList I1
Variables Characteristic features
(A) Independent (@ Can be used to divide subjects into
specific categories
(B) Dependent (II) Cannot be divided into subparts
(C) Control (III) Represents the cause
(D) Discrete (IV) The variable that is affected
Choose the correct answer from the options given below :
(L) A)-(D. (B)-aD), (C)-(IIL). (D)-AV)
(2) (A)-(ID, (B)-(1D), (C)-(IV). (D)-(I)
(3  A-ID, B)-AV). (O)-0), (D)-dD)
@ @-0V). B)-@. (C)-dD. (D)-AII)
g1 % o gA-11 % firem Hif
i1 eI
= Tarfore - e
Q) = O foui =i f@fe =k 4 gl % g s=wm
o =1 o 2 |
®) i D) susrT § sier & o w2 |
(C) fam (IID) =Fror-TrseHi
D) fafama AV) T = = o9 B 2
4= fau v fompeal o @ wEl 39 W T Hife
(1 (A)-(D. (B)-dD, (O)-(11D), (D)-(IV)
2  (A-dD, (B)-Im), (C)-IV), (D)-(D
(3  (A-AID. B)-IV). (O)-D, (D)-dD
Gy (A)-(IV), (B)-(D). (C)-(1D). (D)-dID

[Question ID = 4552][Question Description = Q15_GP_29N0OV_51_SHAAN]
1. 1 [Option ID = 18208]
2. 2 [Option ID = 18209]
3, 3 [Option ID = 18210]
4, 4 [Option ID = 18211]

11)

A student greets his teacher with ‘Good Morning’. Here the channel of communication is :

(1)
(3)

The effect
The speech

(2) The source
(4) The intent

i3 foremefi 31 srenae 1 AAfiEeT e AT 9 aT B | TeT TR % AT 2

(1)
(3

REIE]
EIED

)
@

4
ard

AR
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[Question ID = 4553][Question Description = Q16_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18212]
2. 2 [Option ID = 18213

4. 4 [Option ID = 18215

]
3. 3 [Option ID = 18214]
]

12)

The dimensions of classroom communication ave :

(A)
(B)
©)
D)
(E)

Level of obscurity
Level of Observation
Level of intrusion
Intentionality

Normative judgement

Choose the correct answer from the options given below :

(1
(3)

(A), (B), (C) only @ (B), (C), (D) only
(©). (D). (E) only 4 (B). (D). (E) only

T § G o HAE 3

(A)  IEIgE A TR

B)  IEAHA F TR

(C)  TaI F T

D) @S

(E) AFEEE Fom

= fou o fampet ® ® wE s g

1) = A), B). (O (2) aw B), (). (D)
3 %= (C), (D), (B) @ a9 (B). (D). (B)

[Question ID = 4554][Question Description = Q17_GP_29NOV_51_SHAAN]

1.
2.
3.3
4. 4

13)

1 [Option ID = 18216]
2 [Option ID = 18217]

[Option ID = 18218]
[Option ID = 18219]

Given below are two statements :

Statement I: Communication is viewed as one of the social factors that influence the

society including educational institutions,

Statement I : Communication does not help develop, maintain and change cultural settings

of any society for that matter.

In the Light of the above statements, choose the most appropriate answer from the options
given below :

(D
@
3
@

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement I1 is incorrect
Statement I 1s incorrect but Statement I1 is correct

Arer 2 <o faw e

w949 (D :

F (1D :

TR 39 A BER 4 U UF % Y A @1 a6 2 e aaE ek gorl oiga T
TS 9 ISl 2 |

wom i oft wom % o, oTRam TR A%l sy § Iitadd 9 e e 2 )

SUY FYA W A H, et G e om0 9 wed 3w S w9 i
:UﬁTﬁ‘ﬁTTT;I‘;;"I‘Ié#I

i
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w=F

T M wxrn omm e on [ S

@  FA IR I TeE F

3 =9 [ a8l 2, st =94 I 7o 2 |
(4 w1 ved 2, Al sy U8 3

[Question ID = 4555][Question Description = Q18_GP_29N0V_S51_SHAAN]

14)

. 1 [Option ID =
2 [Option ID =
. 3 [Option ID =
. 4 [DOption ID =

18220]
18221]
18222]
18223]

The sequence of stages of active listening 1s :

(A) Understanding
(B) Remembering
(C) Responding
(D) Receiving

(E) Evaluating
Choose the correct answer from the options given below :

B @, ®B). ©), E). D)
3 D). @), E. B, O

Hizeg %0 = =T B F B

(a) ==
B T

© IITR

(D)  ATIEwW
E)  FeAih
el T T famredt | U gl 39t @ 994 i

@ @&, B, ), E), D
@ D) @A), E), B), ©)

2y (©). ). D). (B). (E)
4 (B, (O), (E), (D), (A)

@) (©). @A), (D), B), (E)
4@ (B).(0), (E). D), 4

[Question ID = 4556][Question Description = Q19_GP_29NOV_S$1_SHAAN]

1. 1 [Option ID = 18224]
2. 2 [Option ID = 18225]
3. 3 [Option ID = 18226]
4. 4 [Option ID = 18227]
13)  Match List I with List II :
Tast T TLast IT
Types of speech Objective
(A) After dinner speech (.  To motivate or persuade
(B) Academic speech (II) To mpress
(C) Marketing speech (ITII) To amuse not necessarily informative
(D) Political speech (IV) To inform
Choose the correct answer from the options given below :
(1 (A)-(IID). (B)-(AV). (C)-1I), (D)-(D
(2) (A)-(IV), (B)-(D. (C)-(I1I), (D)-{I)
(3) (A)-(ID), (B)-AID), (C)-(IV), (D)-(D
4 (A)-IID). (B)-IV). (C)-(D. (D)-AD
gefi-1 % wo gAi-11 =1 e $ifr
-1 gei-I1
a5 F T SR
(A) UfERET WisH % TvaTd fam T T @  wfiE e @ o7 B
B) T s dAD) T B

(C) Froom % ¥ waftm s

(I) T A=A w0 S goTRE B SETEE
T 2
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4= 88 v et § © w9 == i

1 A-AD. B-AV). (C)-AD), O)-D
@  AAIV). B-O. (O-dID, O)-AD
3  (A-1). B)-ID), ©)-aV), ©®)-D
@  (A-D. B)-IV). (O)-(1), (D)-dAD

[Question ID = 4557][Question Description = Q20_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18228)
2. 2 [Option ID = 18229]
3. 3 [Option ID = 18230]
4. 4 [Optien ID = 18231]

16)  The least number of five digits which 1s exactly divisible by 12, 15 and 181s :
(1) 10020 (2 10050
(3 10060 (4) 10080

ta 37 $i =FE TEm S 12, 15 3R 18 ¥ pm: fAawsT 2
1) 10020 2) 10050
(3) 10060 (4 10080

[Question ID = 4558][Question Description = Q21_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18232]
2. 2 [Option ID = 18233)
3. 3 [Option ID = 18234]
4. 4 [Option ID = 18235]

17 : ; : : s
) Gopal can do a piece of work 1n 3 days while Ravi can do the same work in 4 days. The wage

for the full work is Rs. 3500/-. If they both work together to complete the work then find the
earmings of Ravi?

(1) 1300 @ 1500
(8 1600 @ 1650

T % 1 B 3 AT W AT 2 9al U 36 B w4 35 0 W wwa 21 9 B W i T
3500/- 2| PR 9 AT e oY 8 YU G 3 a1 0 A 219 70 gefi

(1) 1300 (2) 1500
(3) 1600 (4) 1650

[Question ID = 4559][Question Description = Q22_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18236]
2. 2 [Option ID = 18237
3. 3 [Option ID = 18238)
4. 4 [Option ID = 18239]

18) Given below are two statements :

Statement I: Equilateral triangles and squares are examples of regular polygons.
Statement IT: In isosceles triangles, the angles apposite to the equal sides are equal.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT 1s incorrect

(4) Statement I is incorrect but Statement II is correct

el 27 o g u ¥
w=oE (I): o9aTg BT 9 v, GRS % ST 2 |
F=y (D) : Tz fas #, aam wenett % faada § g <o oam 24 21

ST $YF A 4, {9 f2u U fmpedi @ @ 999 ST SR 0 99 i
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(1)  FoA I IIam |8t 2 |
(2 @ IR I3 o 2 |
3) @ 1=l 2, et oA I 2
@ I vem 2, e % IO 2

[Question ID = 4560][Question Description = Q23_GP_29N0V_S51_SHAAN]
1. 1 [Option ID = 18240]
2. 2 [Option ID = 18241]
3. 3 [Option ID = 18242]
4. 4 [Option ID = 18243]

19) : : : : : .
What 1s the rate of simple interest 1n a bank if the principal amount of Rs. 5,000.00 becomes

Rs. 10,000.00 in 8 years?
(1) 12.5% 2) 20%
3) 15% (4 10%

T % 0 WYURW = @ T A g 9 8 99 § 5,000 T ¥ qew 10,000 T 7 S 27
(1) 12.5% (2) 20%
3  15% @) 10%

[Question ID = 4561][Question Description = Q24_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18244
2. 2 [Option ID = 18245]
3. 3 [Option ID = 18246]
4. 4 [Opticn ID = 18247]

20) Match Last I with List IT in order to make correct sentences.
List I List IT

(A) Fraction eguivalent of 128.57% is a 9

(nearest) ) 7

(B) If the numerator of a fraction is an ]

increased by 20% and its denominator 7

1s decreased by 10%, the fraction

becomes g The original fraction is

(C) 1% 1s equal to (11D %
2 64 . 4
D) 7 +% 1s equal to (IV) 7

Choose the correct answer from the options given below :

O @-aV. ®)-O. (C)-aD. (D)-(I)
@ (@-aV), B)-II), (O)-aD, D)-@)
@ @)-@D. B)-1), (©)-aV), O)-@)
@ Q-0 B)-IV), (C)-aD, (D)-(I)

TA1-1 % Wy g=Ai-11 =1 e il

-1 A1
(A) 128.57% =1 Ferean T Tmges 2 o 9

i

B) IR FRdY fimr =7 31 20% serEn S i an 8

o - n ?

9% B W 10% TeE W a fam %*@_1

ST & | e fom 2

1- 10
C J - '%: ST
) - . (I1T) 7

2 64 4

S TR R —
AT S ™) 7
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4= 53 ™ Frepeat © ¥ w3 = == il

ey
2
G
@

(A)-(IV), (B}-(D). (OID. (D)D)
(A)-(IV), (B)-(1ID). (C)-(1L), D)-()
(A)-(IID). (B)-(I), (C)-AV), D)-M)
(A)-(D. B)-AV). (C)-1D), (D)-(III)

[Question ID = 4562][Question Description = Q25_GP_29N0V_S51_SHAAN]
1. 1 [Option ID = 18248]
2. 2 [Option ID = 18249]
3. 3 [Option ID = 18250]
4, 4 [Option ID = 18251]

21)

Given below are two statements :

Statement I: Vyapti (relation of Universal concomitance) expresses the relation between

two individual objects only.

Statement IT : Vyapti expresses the relation between the classes of individuals.

In

the light of the above statements. choose the most appropriate answer from the options

g1ven below :

(D
2
(3)

@

Both Statement I and Statement I are correct

Both Statement I and Statement II are incorrect

Statement I 1s correct but Statement I 1s incorrect

Statement I is incorrect but Statement II 1s correct

fawm oy

wo (I): =i (WEvifies geatdar 1 999) Fad 3 Ui agall & A1 a9 Hi ATaeTad = 2 |

F:o (ID) : =T | =3B % oM % Aed GaY T ST e o 2 |

SUURE YT % s A, A= 2y e ool 4 9 wen Suaes oae @ = it

()

(2)

(3)

(D

FoA I o7 IL 21 T2t 3 |
=9 I 3R I 241 7o 2 |
FoF 1 W21 2, aif =91 I 7o 2 |

FoA [ 7o 2, afe % T8 2

[Question ID = 4563][Question Description = Q26_GP_29NOV_51_SHAAN]
1. 1 [Option ID = 18252]
2. 2 [Option ID = 18253]
3. 3 [Option ID = 18254]
4. 4 [Option ID = 18255]

22)

A series of terms would be in the order of increasing intension :

(A) When each term in the series (except the first) connotes more attributes than the ones

preceding it.

(B) When each term In the series (except the first) 1s more specific than the one preceding
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Your Personal Exams Guide



www.prepp.in

it.
(C) When each term in the series (except the first) connotes less attributes than the one

preceding it.

(D) When each term in the series (except the first) 1s less specific than the one preceding
it.

Choose the correct answer from the options given below :

(1) (C) and (D) only @ (C)only
(3) (A) and (B) only 4y (D)only

Tl 5% dfiaar 39 o ggl 6 JEer wa il 2 7

(A) & UG IS T2 (T TS W D) A Ydadi g 1 s st s w5 Jymds
IR |

By @ y@ T GAT T (U 99 F BigR) A [Hadl 93 H s it Rt A 2

(©) @ 4@ 1 Yedh U8 (TNH G2 Bl BISHY) A Yo 93 U HH FEeT & Agmiw g 2 |

D) | FE T WTE TG (WUH 93 I BISH) Td U8 T gorn H w9 fafie 2 2

4 23 W et 9 wel 39 & 99 i
(1) &= (C) 3k (D) @2) e (C)
(3) FAA (A) R (B) (4) = (D)

[Question ID = 4564][Question Description = Q27_GP_29NOV_S1_SHAAN]

23)

T e

1 [Option ID = 18256]
2 [Option ID = 18257
3 [Option ID = 18258]
4 [Option ID = 18259]

“The great cricketer Sudhir says that Medisulpha soaps are good for health. We therefore
must believe that it must be true indeed.”

Which fallacy is committed in the above argument?
D Strawman (2) Appeal to unqualified authority
(3) Appeal to 1gnorance (4) Slippery slope

“wem Tz flaenst g o e 2 T afsues g e % e 3o 2 ) i g am o iz 5
g aegd: wel A |
swfa wh 1 FRE YRR % wo-i (Fgena) e e e R 7

(1) A (FEeeT) (2) wEEg =ARE F1 5awE o
(3)  3TEEa B gaTE S (4) T g

[Question ID = 4565][Question Description = Q28_GP_29NOV_S1_SHAAN]

1.
2.
3.

1 [Option ID = 18260]
2 [Option ID = 18261

4. 4 [Option ID = 18263

24)

]
3 [Option ID = 18262]
]

Given below are two statements :

Statement I: In Nvava philosophy. subject matter of logic 1s mainly thought and its verbal
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formulation 1s only a matter of contingency.

Statement IT:  Verbal formulation of an argument in Nyaya tradition is only for leading the
other to the conclusion in question.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement I1 are correct

(2) Both Statement I and Statement IT are incorrect
3) Statement I is correct but Statement II is incorrect
(4) Statement I 1s incorrect but Statement II 1s correct

Hit 21 o fem e 3
FA [0): =@ FE 0 @ i 9 T geTa: fem R o s wWises Feun Fae SR #
o 21

FA (1) : =8 W 5 Gl a5 1 mises e A 37 SAfFa = 99 feed 9% 1EEm |

ST FYF s 4, f9 20 10 fmedi 4 U HeE I S W 99 i
(1) T IR I T8 e

@ % I s I Fi em B |

) FIEE 2, ofe wem 117 2

4 =@ 7o B, wAfeT o Il 2

[Question ID = 4566][Question Description = Q29_GP_29N0V_S51_SHAAN]

1. 1 [Option ID = 18264]
2. 2 [Option ID = 18265]
3. 3 [Option ID = 18266
4, 4 [Option ID = 18267)

£3) “Of course you want to buy a Golden pear brand phone. Golden pear phones look good in

one's hand and all the Bollywood stars can be seen carryving them these days™ :

Which fallacy is committed in the above argument?
(1) Red herring

(2) Fallacy of accident

(3) Appeal fo force

(4) Appeal to people (Argumentum ad Populam)

“Gi 3 qn e T sits 1w wfier w2 | R % i wr  esd de % R orsg o # o
Al wrieligs e T i W fw gu @ s wwa £

IO g H B ScdlT TG B 7

1) sz (vew)

@) g W AW (Ferlt o uwiise)

(8  wemE (rf g w)

(4  <rerdes gfEd

[Question ID = 4567 ][Question Description = Q30_GP_29NOV_51_SHAAN]

1
2
3
4

. 1 [Option ID = 18268]
. 2 [Option ID = 18269]
3 [Option ID = 18270]
. 4 [Option ID = 18271]
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28)  CAE stands for :
(1) Calculation Arithmetic Equation (2) Calculation Aided Estimate

(3) Computer Aided Engineering (4) Critical Assessment for Energy

() Fopomm RE A (2) FEFOIE TS TR
() R USS SSiA (4) Trferer warale wic was

[Question ID = 4568][Question Description = Q31_GP_29N0OV_S1_SHAAN]

1. 1 [Option ID = 18272]

2. 2 [Option ID = 18273]

3. 3 [Option ID = 18274]

4, 4 [Option ID = 18275]

27) Given below are two statements :
Statement I: Hardware represents the physical and tangible parts of the computer.
Statement Il : Operating system is tailor made software according to user's requirements.
In the Light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement IT is false
(4) Statement I is false but Statement II 1s true

ATt m?:

FoF () FFeL 1§ 36 it va o et 1 frstig war 21
o (L) : SRt =h1 STYT % STHER AU a5y =1 SHET dieaT 2 |

IWIH FAT  HAARs °, A 138 e famrei # U gt 39t % =wad S
1) FAIARIIA TAE |

(2) wE AR IS 39T 2 |

B8) M 1T 2, S weE [ s B |

(4) A I 39 2, s waT IL9e B

[Question ID = 4569][Question Description = Q32_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18276
2. 2 [Option ID = 18277
3. 3 [Option ID = 18278
4. 4 [Opticn ID = 18279]

28)

Which option should she use?
(1) Project (2) Bullets
(3) Header (4) Footer

‘o W YSieT HiteAT 1 WANT id §Y Shiaew Ao fmE-uiEis-negia s @ R | 9w s weds
ug % fi9 ‘ovun w Wi’ I8 gwen SisA wedl ¢ | 36 e frees #1 1Eim e =R 7

()  fEeE (Feee) 2 ToRE

Kritika 1s making her science project presentation on ‘Friction’ using a presentation
software. She wants to add the phrase ‘Presentation on Friction™ at the bottom of each page.
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(3)

i

=t 4 T

[Question ID = 4570][Question Description = Q33_GP_29NOV_51_SHAAN]
1. 1 [Option ID = 18280]
2. 2 [Option ID = 18281]
3. 3 [Option ID = 18282]
4. 4 [Option ID = 18283]

29)

Given below are two statements :

Statement I: Data base refers to a collection of logically related data.

Statement II: The purpose of assembly language 1s to bring man and computer together.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II 1s false

(4) Statement I 1s false but Statement II 1s true

fasm o .

wod (I): ey, difthe &9 U Trag Ydd W 9wsi—od ¢ |

FY () : TETSel 91 %1 Sed AFE 37 FEA i Teh W o 2 |

Y FUT F A |, 9 e T et § @ w2t 39w = =rE Fifsu

(1
2)
6)
(4)

A IR T a3 2

Fo 1 31 I1 21 73 3 |

FIA 1 Hcq 2, A 9 11 5757 2 |

F 1 37 2, ored 9 [L T 2 |

[Question ID = 4571][Question Description = Q34_GP_29N0V_S51_SHAAN]
1. 1 [Option ID = 18284]
2. 2 [Option ID = 18285]
3. 3 [Option ID = 18286]
4, 4 [Option ID = 18287]

30)

What 1s the purpose of Block Chain?
(1) To block the network (2) To block the data

(3) To secure the data (4) To interhink the data

&l o W Seyd T

(1)

3

Ty r N ' Ty ™ s
JzaE B Al B (@) 22 H AF FAT
3271 =i gEidE (4) =21 = s B

[Question ID = 4572][Question Description = Q35_GP_29N0OV_51_SHAAN]
1. 1 [Option ID = 18288]
2. 2 [Option ID = 18289
3, 3 [Option ID = 18290]
4. 4 [Option ID = 18291]

31)

Given below are two statements -

prepp

Your Personal Exams Guide



www.prepp.in

Statement I: Aquatic weeds are fast growing weeds which ecan atfain very high
productivities when cultivated on nutrient rich waste water such as domestic

sewage.

Statement II: Water hyacinth. salvinia and duck weed are some examples of aquatic

weeds.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement IT 1s false

(4) Statement I 1s false but Statement II is true
e g Ho fem e B

Fo (I): o™ W-Uaan 99 ¥ 954 91 9 2 S 95d SAe] Ieq1eshal ITeq 1 8 56 T -

s o~ e T Y
acd | W gT HAEE 59 9" W Ao T STE A

o (IT) :  =trex wnfds, dfcafa oiit s=dls, et T-udan & s TR 2|

SRR FIT F o 4, S92 T e § 8§ w9 SR % 99 Sk
(V)  #E Ia ILEH a2
@  #A IR IR o9ue § |

Fay

(3) FoF I & 2, wife 599 1 o158 2 |

Y

(4 FEIsEa: atm e T2

[Question ID = 4573][Question Description = Q36_GP_29NOV_51_SHAAN]
1. 1 [Option ID = 18292]
2. 2 [Option ID = 18293]
3. 3 [Option ID = 18294]
4. 4 [Option ID = 18295)

32)  Match List I with List IT :

List I List II
E-Waste Components Their uses
(A) Mercury (D Printed Circuit Board
(B) Poly Chlorinated Biphenyls (PCB) (IT) Insulation
(C) Brominatede Flame Retardants (III) Flat Screen monitors
(D) Paly Vinyl Chloride (PVC) (IV) Capacitors and Transformers

Choose the correct answer from the options given below :

1 @D, (B)-AID), (O-AV), (D)-AD)
2y (A-D. B)-ID, (C)-11I), (D)-AV)
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3y  @-UD. (B)-(V), (C)-(D), (D)-)
9  A)-1D. (B)-AV), (O)-D), D)-dD

A1 % T G-I =1 e =it

g1 g1

$-Fa TaTE T I
@) A () @ Tics afke =g
B) dicht FAfcRS 98 FEed (WLEA) A sEeEE
(C) diftFds v feiged Il wic ThA Tified
(D) et e Faness (dEf) (V) Fifaed U3 ZEeny
4= o ¢ oot 0 © 9t o 1 == Hife

@O A-D. B)-3ID, (O-1V), (D)-I0)
@  @A-O, B-dD), (C)-a1D), @)-AV)
3  @-0D. (B)-AV), (C)-(D). (D)-d)
@  (A-dD, B)-IV), (O)-1), (D)-I0)

[Question ID = 4574][Question Description = Q37_GP_29NOV_51_SHAAN]
1. 1 [Option ID = 18296]
2. 2 [Optien ID = 18297]
3. 3 [Option ID = 18298]
4. 4 [Option ID = 18299]

33)  India’s share of nuclear energy in the electricity generation is approximately
(1) 0.3% @ 3%
3 10% 4 15%

farera SouTeA |, TR S 1 YT % TR ST B
(1) 0.3% 2y 3%
(3) 10% (4) 15%

[Question ID = 4575][Question Description = Q38_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18300]
2. 2 [Option ID = 18301]
3. 3 [Option ID = 18302]
4. 4 [Option ID = 18303]

%) Match List I with List II
Tast T List IT
Hazardous substance Major Source
(A) Lead () Electrical insulation
(B) PCB (Polychlorinated biphenyls) (I) Plastics industrial uses
(C) Benzene (III) Paint
(D) Vinyl Chloride {IV) Gasoline

Choose the correct answer from the options given below :

1 A-O, B)-ID). (C)-II), (D)-(IV)
2  (A-Ih). B-aD. (O)-AV), O)-D)
(3  (A)-AD. B-D. (O-D, O)-AV)
@  @A)-Ih, B)-D, (O)-AV), (D)-ID

TAI-1 % WY =A-11 =1 e i
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L) Fad

-1 1L
A T T G
@ == @  Terpder sgeiem
@) . (i Fifeee aEi-Eanea) A venfeewm sefeas s
(©) =& dID vz
(D) frma wsE V) e

F= 53 7o et ¥ wE ST W 99 i
(1) (A)'(D+ (B)'(H}s (C)'(]I[)r (D)'{IV)
2  (A)-D. B)-d1), (O-av), O)-O
(3) (A)-(IID. (B)-(D). (C)-(IL), (D)-AV)
4  (A-ID. B)-@, (C)-IV), (D)-dD)

[Question ID = 4576][Question Description = Q39_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18304
2. 2 [Option ID = 18305]
3. 3 [Option ID = 18306]
4. 4 [Option ID = 18307]

33) Which of the following are true about International Solar Alliance (ISA)?

(A)  Its Head Quarter is in Washington DC

(B) It is ajoint initiative of France and India

(C)  Most of the participating countries are in southern hemisphere
(D) There are 121 signatory countries

(E)  Mostly sunshine countries are participants in this

Choose the correct answer from the options given below :

(1)  (A). (B). (D) and (E) only 2) (B), (D) and (E) only
&) @, B). (C)only @ (B.(C), (D) and (E) only

st d wf (srd. e, ) % an § Frifea § 2 i aer 27
(A)  THR gEETeE aifarie SLEt | 21

B) T R & % T GAH I 2

(C) W o A rfahaT 3w ol merd | )

(D) =R Fal g 121 7|

() erfermt oot ot Gt & diva 391 3o weier 2 |

4 f2u 7o gl § © TE I H 99T i
1)  F9 (A), (B). (D) 3R (E) @ Faa (B), (D) 3R (E)
(3)  aw (A), (B) 31 (O) (@ Fast (B), (C), (D) 3 (B)
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[Question ID = 4577][Question Description = Q40_GP_29NOV_51_SHAAN]
1. 1 [Optien ID = 18308]
2. 2 [Option ID = 18309]
3. 3 [Optien ID = 18310]
4. 4 [Option ID = 18311]

36)

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A):  Research in the field of sciences require more fund than that in the field of

social sciences and humanities.

Reasons (R) : Only 1n economically rich countries research in sciences of high quality is

possible.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct

(1) (A) 1s not correct but (R) is correct

= 3 o fiu e 2 R A 9wk B sl (A) SR O W a (R) e T R |

AR (A) ; EfER 3R amifse fomme = @ F gern A fage % @9 ° oy 2d A s-afy

= STETIFaT 2 2 |

7% (R) : THael IMF B9 W GO0 390 1 21 fome ¥ S=a TuEe Jwen i o g |

SETd FYE 6 A ° A9 41e T foehedl § ¥ Hed SUgE IR 99 Hi

)
@
3

@

(&) 3R (R) I 78 & 3R ), (A) Fi 75 =1vEm 2
(A) 3R (R) 31 w2t & wife R), (A) i wdt =wen 796 2 |
(A) T2t 2 dfm R T E 2

(A) 7 = 2 @fm R) TR 2

[Question ID = 4578][Question Description = Q41_GP_29NOV_51_SHAAN]

T e

37)

. 1 [Optien ID = 18312]
2 [Option ID = 18313]
3 [Option ID = 18314]
. 4 [Option ID = 18315]

Given below are two statements ;

Statement I: Purpose of doing research 1s to make fundamental contrbution in
knowledge.

Statement II : Indian higher education institutions are making fundamental contributions
in very large area of knowledge by publishing a number of research articles.

In the light of the above statements, choose the most appropriate answer from the options
given below :

1 Bnth Statamant T and Qftatamant IT ara Aanymant
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(2) Both Statement I and Statement II are incorrect
(8) Statement I is correct but Statement II 1s incorrect
(4) Statement I is incorrect but Statement II is correct

woF (I): 99 T 1 3279 TH 8 qAYd TAEH T 2 |

wo (I :  9Ra  F=a e gend sga IR wg-srdl % 1 59 % faeme & A gerga Amed 3 @
SHIFd FYF % e °, = o e fawent o ¥ aew Iuw SOt # 9 i

() Fom I Ia3A w8 3 |

@ = I i I 2T e £

(3) = 1wd 2, < Ty 11 7Teta 2 |

@ FoE 17w 2, afe wE T 2

[Question ID = 4579][Question Description = Q42_GP_29N0V_S51_SHAAN]
1. 1 [Option ID = 18316]
2. 2 [Option ID = 18317]
3. 3 [Option ID = 18318]
4, 4 [Option ID = 18319]

38)
Which among the following adversely affects the inclusive character of the institutions of

higher education?
(1) To promote quality of education
(2) To select very competent faculty

(3) To use uniform criterion to select the institutions so that charges of partiality can be
avoided

(4) To provide fund for doing quahty research

frefefiaa 8 5 =0 3= foen sene 6t gl Peamet =t fAule =9 3 nwfm ==dt 29
(1)  Toen $ woren =B SearEa B

(2)  wgd GHH G UGE B =9
(3)  TENE F 9 U UF WEE HHS F TE GGG T O § uRER 7 w9 |

(4)  ToEETe W e % e e Tl Sueresy o |

[Question ID = 4580][Question Description = Q43_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18320]
2. 2 [Option ID = 18321]
3. 3 [Option ID = 18322]
4. 4 [Option ID = 18323]

39) Which among the following factors promote the quality of education?

(A)  Organizing conferences, symposia

(B) Encouraging collaboration of research with the leading universities of the World

(C) By privatising the universities

(D) By creating a system of strong punishment for those faculty who do not do research

(E) Providing e-resources to the faculty and students

Choose the correct answer from the options given below :

(1)  (A). (B). (E) only 2) @A), (B). (C)only
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(3

(B). (C), (E) only

4 (0). (D). (E) only

FfIiaa o $F ¥ FRF 91§ JUET H Aedied #1498 ¢

(&)

(B)

©)

(D)

(E)

FEEA, YRS B AT BT
faza % st fRvaferedi % @y w1y & 9297 F gGE o
fergarterneral =+ sfipn & Ao 9

TG TH T 3 FHE-USH F 9 FoR TV F a1 i 91 F oI
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T -Tee] U el & fau s—aarea ey 0%

o Bu o famedl § ° T8 SO %1 99 FiN
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(3)

T
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%
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(A). (B). (E)

(B). (O). (E)

(2) FaE (A). (B). (C)

(4) Faa (C). D), (E)

[Question ID = 4581][Question Description = Q44_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18324]
2. 2 [Option ID = 18325)
3. 3 [Option ID = 18326]
4. 4 [Opticn ID = 18327]

40)

Match List I with List I ;

List I

Organisations
@A) ICSSR
(B) DST
(€C) ICMR
D) ICPR

List IT
Disciplinary Domain
() Philosophy
(II) Social Sciences
(III) Sciences
(IV) Medicine

Choose the correct answer from the options given below :

@
@)
(3
@

(A)-IV), B)-aD), (O)-D). (D)-A1D)
(8)-(D, (B)-(IV), (C)-(1D). (D)-(11)
(A)-ID, (B)-(0). (C)-ID), (D)-AV)
(&)-(ID), (B)-0D). (C)-(IV), M)-(D

geAi-1 % W -1 =1 e fif

A)
B)
(©)
@)

-1

HEIH

S G uH. T, 3,

.75,

.

377 41,90 31K
318 i A

@O =
A FEtTs-fEE
Il e

-

aAv) sgee
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(A)-(IV), B)-AD, (C)-D. (D)-A1D)
(A)-(D. (B)-(IV). (C)-(1D), (D)-(I)
(A)-(ID). (B)-(D. (C)-(IL). D)-IV)
(A)-D). (B)-A1D), (C)-(IV), (D)-@)

[Question ID = 4582][Question Description = Q45_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18328]
2. 2 [Option ID = 18329]
3. 3 [Option ID = 18330]
4. 4 [Option ID = 18331]
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Topic:- GP13_C

1)

Read the following passage carefully and answer questions

Let us look at what you can do to eliminate a destructive habit, whether it is obesity,
habitually being late, profanity, smoking, having a short temper or alcoholism. The first and
foremost thing you must do is to decide that you want to ehminate the habit. That 1s a
decision you and only you can make. Without this moiivation on your part, no person or
procedure will have any significant impact. If someone else “talks you 1nto 1t” the chances are
strong you will perhaps start but the effort will be short lived. Remember, you generally
don't reach someone else’s goal. Many times you end up further behind than you would have
been had you not attempted to quit a habit which you were not ready to give up. For
example, weight lost and regained. So first and most importantly, decide you no longer are
going to be a slave to any destructive habit. Decide you want to have control of your life, that
you want to be free, that you want to do things with yvour life instead of having things done to
your life. It 1s tougher, much tougher to quit a bad habit, but fortunately the results are fun
and much more rewarding. Former smokers, alcoholics and fat-folks unanimously — and in
glowing terms — give us exhaustive details concerning the joy and excitement of shedding
those pounds, giving up the need, and getting of the bottle. The ex-smoker talks about the
exciting taste of the food-the clean smell of the air, clothes, furniture, among others. The talk
about the new found self-respect and satisfaction from whipping a habit that would have
taken from two to ten years of their lives,. and a lot of living out of their lives.

ATFC B W A 9 faer = 6 s et faammad sneg = 9w Ao w1, eneed faerm e 6 i
srafar 2, g, Fafasm 2w e % da A sned & B g F K R e w wwd # 1 adem
IMH a7 Fg=T FE =iz 6 30 39 5T B BiSA wiEd 21 98 vh Ao 2 W had o oA o
T 2 | oTH TW 30N % TER % fer R ofi =i = aiee @ e Wl waE T8 9T | A HE 3
safFq 3EF WN W 99 W B 2 1 3W I hl BAE WS @ 7P haItaa 2T g TE AW
ST oy i T A9 9% T 0 20T | TR B R araae o Rl o safea ¥ oeem a9 T
g 21 72 AR, 3R o et sren = oftem w9 W o T e 2w R 3 $ o o
&R T 3 ) wga T2 f w IR 3| sgEwn % 9k W, a9 w9 Fer ok T 8 9 agn o) st v
7 | ot S T 3 SR Sas @ e = 2, 9y T s gag 2 wed 2, a1 i s s S
F T gd W TRY TE Hed % T O A ST § B AT He F wned ¢ | R g sea = s
Tl Hed 2| g dhvrEew, o Wi gEEyiie it wga afte wemEl 31 @ H e
FATE, TR T A 3R ARG A 39 A A O e 2 iR 3 wga Seea WROH e & -
YA THPH, HAETIaRdT G0 Tal B S IR H qiae F g Tal T F B e o Sue %
R § Toangds oase | Fadam guaE w1 9 o 96 % WA T Y5H B Sue e, g
Y, T, S % A H & W A |

d TRy Udt 3TIeE 1 ST % RerEEY T STRRTEHT 3R TalY % SR § WG B B 19O R 3
STl 3 31 W 98 99 a% B TAF FH § G N T ST | wgd A GSiad 1 A9 5l 5T |

The elimination of destructive habits depends upon :

(1) External persuasion (2) Social acepetance

(3) Impersonal reasons (4) Self-resolve
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(1) = AT W (2) wHEf e
(8)  waAfFTs B W (4) TTH FFT W

[Question ID = 4583][Question Description = Q46_GP_29N0OV_51_SHAAN]
1. 1 [Option ID = 18332]
2. 2 [Option ID = 18333]
3, 3 [Option ID = 18334]
4, 4 [Option ID = 18335]

2)

Read the following passage carefully and answer questions

Let us look at what you can do to eliminate a destructive habit. whether it is obesity,
habitually being late, profanity, smoking, having a short temper or alcoholism. The first and
foremost thing you must do is to decide that yvou want to ehhminate the habit. That 1s a
decision you and only you can make. Without this moiivation on your part, no person or
procedure will have any significant impact. If someone else “talks you 1nto 1t” the chances are
strong you will perhaps start but the effort will be short lived. Remember, you generally
don't reach someone else’s goal. Many times you end up further behind than you would have
been had you not attempted to quit a habit which you were not ready to give up. For
example, weight lost and regained. So first and most importantly, decide you no longer are
going to be a slave to any destructive habit. Decide you want to have control of your life, that
you want to be free, that you want to do things with vour life instead of having things done to
your life. It 1s tougher, much tougher to quit a bad habit, but fortunately the results are fun
and much more rewarding. Former smokers, alcoholics and fat-folks unanimously — and 1n
glowing terms — give us exhaustive details concerning the joy and excitement of shedding
those pounds, giving up the need, and getting of the bottle. The ex-smoker talks about the
exciting taste of the food-the clean smell of the air, clothes, furniture, among others. The talk
about the new found self-respect and satisfaction from whipping a habit that would have
taken from two to ten years of their lives. and a lot of living out of their lives.

ATSE 79 7 o R faen i o6 g et fammerdt ongg =2 9% Ao @, eeed faers w i At
srafepren 21, yar, fagfugm 2w v % do A aned @ W g e % o e w0 R §) weam
MIH a7 Fv=m +on =iEe 5 3w 39 Sned # s =iEd 31 YR uw o 2 S hed H9 @ o
TFd 2 | T o0 TR % UER % T o off safea 31 uhEAT 6 RS WdE Y9TE T89S | A HE o
SafFq 3R N W 9% W B 2 1 39 S hl BUE WS @ P hataa 3T g TE AW
ST oy i T A1 98 T 400 20T | T B T avmam o el o = ¥ e a1
TEe 2| FE an, 3 o et Tt stew w uftam w9 W oy 98 G A R o $ o v
TR T 2 A wga 19 H ® 91 % | SgEW b it W, a9 9 e ok TR § a5 ae o | sefee wE
WO S Hettesd Tewgel 98 47 2 T o fvwa = 5 s o otk ot fmmreerdt sneg & 2w o 58
@ | Tl o 7 e ara Sfiem W e =ved 2, g 5 o gae g e €, 18 6 e e Sfem
% g gd o Tohe T Bed < w@E W s Sfe § 33 9l Bea e = & | et gl s o sie
areatF Hed 2| g divrEeaw, o Wi gEEyiie it wga ot el 31 @ H e
FATE, TR TH A 3R ARG A O 39 A A O e 2 o 3 wga Saea WA e & -
YA TAFH, SE7aahdT 0 Tal X IR H qiae H g Tal T F e i R SUe %
R § ToFanges oaRe | Fadam guaE R a9 o A6l % W' Y5H % Sue e, g
Y, Ui, SR % A H &1 $ 2 |

d TRy UL 3TIeE 1 ST % ROrEEY WTH STRRTET 3R TalY % SR H WG B B 19O Il 3
STl 3 3 W 98 99 A% B TAF FH § a1 1 T S | sgd A Gt 1 A9 5l 5T |

The impact of someone else motivating a person to move away from a bad habit i1s :
(1) Everlasting (2) None

(3) Transient (4) Significant

et =@ =afaa gru foedt eafea =t 9t steg @ied = for sifbdfig = =61 v gian 2
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[Question ID = 4584][Question Description = Q47_GP_29N0V_S51_SHAAN]
1. 1 [Option ID = 18336]
2. 2 [Option ID = 18337]
3. 3 [Option ID = 18338]
4, 4 [Option ID = 18339]

3)

Read the following passage carefully and answer questions

Let us look at what you can do to eliminate a destructive habit, whether it is obesity,
habitually being late, profamty, smoking, having a short temper or alcoholism. The first and
foremost thing you must do is to decide that you want to ehminate the habit. That 1s a
decision you and only you can make. Without this mofivation on your part, no person or
procedure will have any significant impact. If someone else “talks you into it” the chances are
strong you will perhaps start but the effort will be short lived. Remember, you generally
don't reach someone else’s goal. Many times you end up further behind than you would have
been had you not attempted to quit a habit which you were not ready to give up. For
example, weight lost and regained. So first and most importantly, decide you no longer are
going to be a slave to any destructive habit. Decide you want to have control of your life, that
you want to be free, that you want to do things with vour life instead of having things done to
your life. It i1s tougher, much tougher to quit a bad habit, but fortunately the results are fun
and much more rewarding. Former smokers, alcoholics and fat-folks unanimously — and in
glowing terms — give us exhaustive details concerning the joy and excitement of shedding
those pounds, giving up the need, and getting of the bottle. The ex-smoker talks about the
exciting taste of the food-the clean smell of the air, clothes, furniture, among others. The talk
about the new found self-respect and satisfaction from whipping a habit that would have
taken from two to ten years of their lives, and a lot of living out of their lives.

Y 79 79 e 9L T L 6 s et faammedl sieg = 97 g &, sreed faems w5 oAt a,
AT &, YHIH, (IgEs™a gt 91 YW % 9 i Ied g B @ A % Y 7 R TR § | ghuan
JGH Iz Fvem wen =i 6 " 3" Fed B S WEd 2| 47 vm P 2 S ae e A o
TFd 2 | 2T o0 TR % TER % T o off Safea T uGEAT W RS WdE Y9TE A8 98T | A B o
safdd “‘THE SR A HA9Y WG B 2 9 3 G I FUE WSS 2 7 HeiEg 29 g T 9w R
ST oy i T a1 9% T 400 20T | T B T aema o el o =afea ¥ e a1
TEad 2 | s 9, 3 s e Gt st oftem e oy 99 e B S s % e e
TR T 2 A wga 19 H ® 9 2 | SR B dit W, g9 9 e oik TR g a5 ae o | sefee wE
T | Tt it i 3 s e e =ned 2, 37 6 o gee 2 = 2, 4 16 enw s A
% @y qd H TR e Fea & @E W e e # B Ade e e wred § ) el gl sea 0 sie
sreafas WieT 21 feg dvwraw, sa% AN gEmEyiee i sga e weerdl 31 9@ W gEuH
FEATE, TR T A 3R ARG A A 39 A A e o 2 i 3 wga Soea WA e 8 -
YEIUH THFH, SAETaaRdT B 0 Tal R S IR H qiae H g Tal T § gFat e R SUe ®
R § ToFangds oase | Fadam guaE i a9 o7 9l % WA T Y5H % Sue e, g
Y, T, S % A A & 9 2 |

d TRy Udt 3TIeE 1 ST % RerEEY T STRRTEHT IR TalY % S H WG B B 19O Il 3
STl 3 3 W 98 99 A% T TAF FH § a1 1 ST S | 5gd d Geiad 1 A9 5l 9 |

A person who decides to leave a bad habit is (a) :
(1) Successful person (2) Susceptible to pressure form others

(3) Role model for others (4) In control of his own life

=g =i 1 TRt g snaa i e B AT R R 9

(1) &% =i 2 (2) ST B 379 SAfFEl Hi Wrhl § 37 a2

prepp

Your Personal Exams Guide



www.prepp.in

(3)

A AT F TOIE, A6 -G 2T 2 (4) A EH F SEA B0 QO FEE0 H WAl ©

[Question ID = 4585][Question Description = Q48_GP_29N0OV_51_SHAAN]

oL b o

4)

. 1 [Option ID = 18340]
. 2 [Option ID = 18341]
. 3 [Option ID = 18342]
4 [Option ID = 18343]

Read the following passage carefully and answer questions

Let us look at what you can do to eliminate a destructive habit. whether it is obesity,
habitually being late, profanity, smoking, having a short temper or alcoholism. The first and
foremost thing you must do is to decide that yvou want to ehhminate the habit. That 1s a
decision you and only you can make. Without this moiivation on your part, no person or
procedure will have any significant impact. If someone else “talks you 1nto 1t” the chances are
strong you will perhaps start but the effort will be short lived. Remember, you generally
don't reach someone else’s goal. Many times you end up further behind than you would have
been had you not attempted to quit a habit which you were not ready to give up. For
example, weight lost and regained. So first and most importantly, decide you no longer are
going to be a slave to any destructive habit. Decide you want to have control of your life, that
you want to be free, that you want to do things with vour life instead of having things done to
your life. It i1s tougher, much tougher to quit a bad habit, but fortunately the results are fun
and much more rewarding. Former smokers, alcoholics and fat-folks unanimously — and in
glowing terms — give us exhaustive details concerning the joy and excitement of shedding
those pounds, giving up the need, and getting of the bottle. The ex-smoker talks about the
exciting taste of the food-the clean smell of the air, clothes, furniture, among others. The talk
about the new found self-respect and satisfaction from whipping a habit that would have
taken from two to ten years of their lives, and a lot of living out of their lives.

ATSE 79 7 a1 R faen i o6 g et fammedt ongg =2 9w A @, ereed faers w9 i At
At &, YU, gsTa gt @1 e % 99 i Ned g B @ A % I I R TR § | gauan
ITH a7 Freea Fen 9iEe 56 19 59 JNgd ® BISW wEd 3| U7 v FeiE R S hed w9 g
T 2 | 2T 39 IO % TEw % fa Gl ofl =afFa m oulEn o o o T8 gem ) 3l wE e
safFq 3R N W 9% W B 2 dl 39 S hl TEAT WS @ P haItaa 3T g TE AW
ST oy i T 91 9% T 400 S0 | TR B T avaa o el o = ¥ e a1
T 21 7 A, 7R o et sren = oftem w9 W o TE G 2w R s $ fom o
TR T 2 A wga 19 H ® 9 % | SgEW b dit W, a9 9 e oik TR § a5 ae o | sefee wE
WO ST Hettes Tewgel 98 47 2 T o fvwa = 5 s o otk ot femmreerdt sneg & 2w o 58
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sreafas WieT 21 Tg dvwraw, so% A gEmyiee it sga st weerdl 31 9@ W gEuE
FEETE, WA UH AR SR AT @ W 3 AW H O Faad 2 S 3 agd Ieted TR wad & -
YHTH UM, SETEEA H G TE B S IS 0 e Te o ¥ gFEe] @ o Se %
AR § PRy 9a5e | FadR g wE a o7 Sl % MW 96 % Saes G, a6
Y, Ui, SR % A H &1 $ 2 |

g Tt odt atem @ T %k FoREeY TTH SR AR A S WX H ST | & (9 R0 3R
STl 3 3 W 98 99 A% B TAF FH § a1 1 T S | sgd A Gt 1 A9 5l 5T |

Fending off bad habits will earn a person :
(A) Self-respect

(B)  Better friends in the soclety

(C)  Satisfaction in life

(D) New opportunities

Choose the correct option :
(D) (A) and (C) only 2y (B)and (C)only
(3)  (OC) and (D) only (4) (A)and (D) only
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(8 = (C) 3R (D) (4) FaE (A) 2R (D)

[Question ID = 4586][Question Description = Q49_GP_29NOV_51_SHAAN]
1. 1 [Option ID = 18344]
2. 2 [Option ID = 18345]
3. 3 [Option ID = 18346]
4. 4 [Option ID = 18347)

3)

Read the following passage carefully and answer questions

Let us look at what you can do to eliminate a destructive habit, whether it is obesity,
habitually being late, profanity. smoking, having a short temper or alcoholism. The first and
foremost thing you must do is to decide that you want to ehminate the habit. That is a
decision you and only you can make. Without this motivation on your part, no person or
procedure will have any significant 1mpact. If someone else “talks you into it” the chances are
strong you will perhaps start but the effort will be short lived. Remember, you generally
don’t reach someone else’s goal. Many times you end up further behind than you would have
been had you not attempted to qguit a habit which you were not ready to give up. For
example, weight lost and regained. So first and most importantly, decide you no longer are
going to be a slave to any destructive habit. Decide you want to have control of your life, that
you want to be free, that you want to do things with your life instead of having things done to
your life. It is tougher, much tougher to quit a bad habit, but fortunately the results are fun
and much more rewarding. Former smokers, alcoholics and fat-folks unanimously — and 1n
glowing terms — give us exhaustive details concerning the jov and excitement of shedding
those pounds, giving up the need, and getting of the bottle. The ex-smoker talks about the
exciting taste of the food-the clean smell of the air. clothes, furniture, among others. The talk
about the new found self-respect and satisfaction from whipping a habit that would have
taken from two to ten years of their lives, and a lot of living out of their lives.

ATFC EY W A 9 faen = 6 s et fammmnd sneg = a9 Ao w1, oneed taerm e 6 g
SfEAT &, gHIH, (gasTa gt @1 e % g h Ned 7 B @ WA % A 7 R TR § | ghuan
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The passage 1s about :

(1) Unacceptability of destructive habits
(2) Benefits of giving up destructive habits
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Prevalence of bad habits in the society

-

TE AT A F AR A 7 ¢

(1)
@)
3
4

fertrarerrll svaal hi sl

ferTerpTl a7rEal 1 AW FE W BHaT STy

T H i eTEdl s 5T |

[Question ID = 4587][Question Description = Q50_GP_29N0OV_51_SHAAN]

oLk B2

. 1 [Option ID = 18348]
. 2 [Dption ID = 18349]
. 3 [Option ID = 18350]
4 [Option ID = 18351]

prepp

Your Personal Exams Guide




